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PART -1/ ¥IFT - 1
CHILD DEVELOPMENT AND PEDAGOGY / 911 fas1 9 Riemem=

Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most appropriate options.

A& : frefafiaa g9 (7. 9@ 1 @ 30) 3 ST &7 & 1070 Qe/qad 39ga [aeheyq giagi

1.

Jean Piaget believed that knowledge is :

(1) a visible behavioural change that can be measured with reliability.

(2) constructed by the child rather than being passed passively from the environment.
(3) innate and given rather than acquired through interactions.

(4) co-constructed in interactions with more knowledgeable others.

S et a1 W o o 9 R

(1) T T FIER IRa 8 i fowareiet & e wrdr S 9ehan |
(2) wEERe | ffeh €9 9 WA 29 % oS o= g1 fAfHa foren S 2
(3)  3ia:fransii & Areem & wE A % I TS SR fean gen B ¥
(4) 3IfYsh SR 3T @Ml o A1 Sa=d § ¥g-fHa g g

Which of the following statements about adolescence is not correct ?

(1) Children across different cultures usher in and experience adolescence in a similar manner.

(2) Adolescence is a social construction.

(3)  Adolescence is generally considered to begin with puberty - the process that leads to sexual
maturity and the ability to reproduce.

(4) Adolescence is developmental transition between childhood and adulthood entailing physical,
cognitive and psychosocial changes.

fopeieeen & R # frefafad § 9 F o Fed 98 & © 7

(1) fafe depfadl & 9= T THE W I frviRreeen § 7a9 #3d € 3R 38 oyd & T |

(2) forsiRTereen weh wrHIfSR AT R |

(3) ToReiRTeen il STHAR W e H1 & H & (0 I 11 © - I8 T T 9ihan & S 9 ufkoeerd
3T qecIe i &THaT i IR o STt 7 |

(4) foreiRTerEen I=da SiR Tawhdl o o9 fashrTee GehAv § e oI, WM SR FHEmSeS
TiRE B § |

Which of the following describes a mastery goal orientation ?

(1) focus on avoiding failure or punishment for fear of humiliation.

(2) focus on achieving a certain level of performance for competing with others.
(38) focus on improving ones’ skills and understanding of a task.

(4) focus on achieving a high grade for receiving external rewards.

71 & 9 i 91 T WeRd Aed SIS 1 qUH L § 2

(1) ST99M o S H FEFHAA A1 T § T T & <A1 |

(2) T F g gfaerdt & A v Mived TR % e S UE e W S S |
() Tt el & fou oo e SiR TWe 1 GEURA W &M <1 |

(4) R JEERR U Y & faT 3= I U R W SH <A1

P-XT {IARIRT DA nm 2 P



4.  Which of the following best describes the role of the teacher in progressive education ?
(1) The teacher lets the children learn independently and does not interfere in their learning.
(2) The teacher is the primary source of knowledge and authority in the classroom.

(3) The teacher provides diverse materials for children to experiment and provides scaffolding
as and when required.

(4) The teacher is responsible for ensuring strict adherence to curriculum standards.

Frefafed # 9 S yiasia fan § fae 6t e 1 god $T=sT 90 il © ?
(1) Toark o= & WA €9 9 W@ @ § 3R 3k HIe § SRAT T8l L ¢ |
2) forerr wan # 9 3R wifteR 1 Wt Eid 2

(3) et a=i 1 WA *A & T fafay A gem #a © iR STevashRal Ued W STIerA Y8 il
gl

(4) Torerer wre=—t AR 1 FSE ¥ e HvEd w0 % fow fer 7

5.  According to Jean Piaget the ability to use symbols for symbols such as letting the letter X stand for
an unknown numeral develops during and enables the children to learn

(1) formal operational stage; conservation and seriation
(2) concrete operational stage; algebra and calculus

(3) concrete operational stage; conservation and seriation
(4) formal operational stage; algebra and calculus

S foremst o STER fogi o foare fo=gi <1 TR 3 i &7 S8 foh 318K X 1 31914 3feh o fore 7 &t
&I % S fomkfad Bt © 3R fornfofai =i e § 9em oA

(1) SAv=ies Hisharcas oTawen; e IR hHaSd
(2) T HishATcHe STarEelT; SSHTu 3fR 7o
(3) T HfshATHE Tael; HeTu iR shHegal
(4) iIeTRes HiwRATEHS STee; sSFu SR oM
6.  Which of the following is an example of a question that requires students to analyze information ?

(I) Who is the protagonist of “To Kill a Mockingbird”?

(2)  What is the plot of the novel “To Kill a Mockingbird” ?

(3)  What is the theme of the novel “To Kill a Mockingbird”?

(4) How does the author use symbolism in “To Kill a Mockingbird”?

frefafea 8 9 o9 91 T T8 991 1 3 § f5ad Sl ol ST o1 fagersor sid i 3Teregehar gl
7?2

(1) 2 fora T gifeTeas’ &1 T HiE § 2

2) ‘2 foa iR SU H HUHE TS ?

(3) ‘'z fFa T nifETed’ 3T o favg s 2

4) ‘'z fora T AfEEe’ | TRas Ydiehare Sl START HH H € ?

P-IT ([ RRTRT A nm 3 P



7.  Assertion (A) :

Students are more likely to do well and stay in school if they have emotional attachment to their
school and believe that they matter.

Reason (R) :

Emotions play a significant role in learning.

Choose the correct option :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.

ARweA (A) :

BEI o T=51 YS¥H T 3R el H o1 T Fl AUk Hure © afc STer! 70 Thed § Wi o1l §
3R 3 A € o 37eRT BT HIEE W ©

0T (R) :

WY Eree § eyt offient e €|

et fashed I |

(1) (A) 3R (R) SHI Teord 71

2) (A) 3R (R) I T T IR (A) = (R) T =A@ Al |

(3) (A) 3R (R) I & T AfRA (A) i (R) T =A@ Tl Al T

(4) (A) 92§ AfRA (R) To@ B

8.  Asking Critical questions such as “how much and in what ways are various gender represented in
textbooks and media” would encourage :

(1) Discouraging gender role flexibility (2) Questioning gender stereotypes
(3) Strengthening gender constancy (4) Reinforcing gender identity

" qregETenl iR Hifean § fafim Sex 1 wfafafu fora IR fore e | foran STan ©°' 519 Hewerqul oo

I5+ 9 foheeh! g firetm ?

(1)  SieX fHeht st To4a1 & earcaned (2) i wfed R gare 33H

(3) it e sl wsted (4) SIS UREM hl HSTed HET
9. In order to address the individual differences among learners, a teacher should :
(1) implement a rigid and uniform curriculum for all learners

)

(2) acknowledge differences as abnormal and kind of deficit

®)

(4) consider differences as obvious feature of human diversity
frenfefaii o ofte safeaa fumarsti 1 Helifud s & fog t fars =
(1) |t frenfefi o fau t o= iR 99M We@shd | T =1y

2)  HAYS! W UMY 3R TH GhR i FHH & &Y Y ThR HEAT AMMET

2)
(3) Al fH=arsTl Tl ToR-SIS LT AT
(4)

be indifferent towards individual differences

4)  fyerareti = ama fafawar ot goaer favear & &9 ° 9 =nfen

P-XT {IARIRT DA nm 4 P



10.

11.

12.

In a progressive classroom assessment is :

(1) Normative (2) Dynamic (38) Objective (4) Summative
Teh WIfceiier shefl H ehert

(1) "AF&HEeRf@gmisl (2) Tl (3) aASd@el  (4) AMTHS SEl

Alok shows the following behaviours : Holds head in an awkward position when reading; squinting
and rubbing the eye frequently; redness/swelling of eyes; confusing letters. These can be symptoms
of potential :

(1) Communication disorder (2)  Visual problems

(3) Language comprehension problems  (4) Autistic spectrum disorder

3T Frefafed =aer foam § @ 9gd gua fR &1 ofe feafa o geve; i@ & 9R-9R G 3ik
TIET; AT T ATeA/GoH; AR U= | 9fia 81 | 78 fhass denfod aemr & g € 2

(1) HaIr Faft fowmr 2) 3 He gen

(3)  WIYI Kl HHSA i THE (4) e fawr

Assertion (A) :

There is no objectively definable moment when a child enters middle childhood or adolescence.
Reason (R) :

Development is continuous in nature.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

fweT (A) :

I hIS IeLITcHe A¥=d &707 F&1 BId1 <ol hig o=l 0 ool a1 fhnsimeeen § Ja9 i § |
hIUT (R) :

forepma, Tepfa o FaX gran war § |

e fashed 94 |

1)  (A) 3R (R) ST Terd B

2) (A) 3R (R) I T&I € 3R (A) T (R) HE AT 3l |

(3)  (A) 3R (R) I T § AfHA (A) T (R) TEl AR Tl BT B |
4) (A) & T AfA (R) TeTd T

P-IT ([ RRTRT A nm 5 P



13.

14.

Assertion (A) :

Teachers should constantly reflect on their own stereotypes and bias.
Reason (R) :

Culturally responsive teaching means that teachers are reflective.
Choose the correct option :

(1) Both (A) and (R) are false.

2
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4)  (A) is true but (R) is false.

ARweT (A) :

forerehi 1 FER 3T W9 o wfeareal SR qaiel W fe6d S e

T (R) :

giepfas T | IR freror o 219 ¢ o freres feaefa 2

e fased T4 |

(1) (A) 3R (R) ST Terd T

2) (A) 3R (R) I T T IR (A) = (R) T AT HIAl T |
(3) (A) 3R (R) I & T AfRA (A) i (R) T =A@ Tl el T
(4) (A) 92§ AfA (R) To@ B

Both (A) and (R) are true and (R) is the correct explanation of (A).

According to Vygotsky, what is the role of the teacher in facilitating cognitive development ?
(1) To give only those tasks that the student can currently do independently.

(2) To provide information and knowledge to the student.

(8) To guide and support the student’s learning through scaffolding.
(4)

4) To allow the student to learn completely independently.

k! o STTUR, WM forehra sl g s # frerss &0t 9o ofie €2
(1) haat 3= Sl Sl <1 S e admm § s §9 § T Fohdl B

(2) B H TR SR FTH YSH HEAT |

(3) T % WY W B & GG 1 GRTEEH R THH HE |

(4) BFH T WE | @A €9 Y G ot 1A S

P-XT {IARIRT DA nm 6



15.

16.

17.

A middle school teacher wants to enable meaningful learning by helping students make connections

between concepts and real-world applications. Which of the following activities would be an

appropriate pedagogical strategy ?

(1) Let the students research on a current issue in small groups and present their findings to the
class.

(2)
(3) Let the students complete worksheets with multiple choice questions.
(4) Let the students learn by the method of stimulus-response conditioning.

T HIEAfie What f1e7eh Bl ol GehedHiel 3R ardfdeh i o STITART o o< Yoy 99H § 7 Hich
qrefeh a1 Tem oA el © 1 fefafed § § S ot nfafafy e suge Sterfore orfa 2t ?
(1) BEl B TE H T09H T8 T I FH < IR o797 Freme e § wwqa L |

(2) Bl e SR g 7 R T

(3) foenfoi @ agfomeda Tl arelt Sl 95k 8 T il HL |

(4) fo=nfeiat 1 SEe-gfdfshan Tsieq ! fafy gro e =l &2 |

Let the students memorize terms and definitions.

According to Lev-Vygotsky children benefit from the experience of interacting with
while working their zone of proximal development.

(1) the physical environment; just outside

(2) more knowledgeable others; within

(3) more knowledgeable others; just outside

(4) the physical environment; within

TS AT o STIHR 9= o |1 3fq:foRA & SgvE § e Bid € iR 37 hEl ol Y U
& S S weiuguigE e & & % g

(1) e STAERT; 939 9l

(2) 3 SHHR 374 HT

(3) 3R SRR 3T; 99 ST

(4) ifdew SER; SR

Dyslexia is a condition which impacts learner’s ability to
(1) sensory, coordinate body movements

(2) emotional, draw pictures

(3) neurological, link sounds with symbols

(4) physiological, socialize with peers

qued dwhcd/fewiformn s ffa g s foaneff &t 1 awan 1 gnfed et ©1
(1) Fodl, TR Tfafafe= & T

(2) e, fad o H

(3) iRt/ =R SRd, LafTal Sl YRl fa=l o e sied

(4) SRR, Siferi % eSS

P-IT ([ RRTRT A nm 7 P



18.

19.

Which of the following characterise the process of socialization ?
(a) Itis a linear process. (b) Itis a complex process.

(c) Itis a multidimensional process. (d) It takes place uniquely in different cultures.

1) @, (®) () (d) () (@), (b (3) (b), (o) 4) (b), (c), (d)
fre=fafed § 9 o9 1 9HSIR i gfshar st fagan § 2

(a) T8 T TEHE UlRA T (b) T8 T e Hisha B

(c) 9T T IgTarH Hishan B | (d) e fafie denfal o fafem w9 9 2 €1
1) @), (®) () (d) () (), (b) B) (b), (o) 4) (b), (c), (d)

Assertion (A) :

In an inclusive classroom, adaptations should be made in learning goals, pedagogical strategies as
well as assessment.

Reason (R) :

The philosophy of inclusion advocates elimination of all individual differences through pedagogical
approaches and assessment.

Choose the correct option :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.

ARweA (A) :
Teh HHSR el H, Had o de, JeIforen WHEifaal o |- Sehe § STIhe (hdl ST =16 |
0T (R) :

TUERE 1 e Heforen iy SR Hewihd % AreEm | et SAfHRRIG Havel I T HIA hl Gkl
HIA T

e fashed T4 |

(1) (A) 3R (R) ST Tord 71

2) (A) 3R (R) I F&I € 3R (A) T (R) HeEl HARAT T ¢ |

(3) (A) 3R (R) I =& T AfHA (A) i (R) T =A@ Tl el T
4) (A) ¥ T AR (R) Tord 2|

P-XT {IARIRT DA nm 8 P



20.

21.

Which of the following does not exemplify an inclusive classroom ?
(1) Encouraging competitive ethos

(2) Incorporation of diverse perspectives

(3) Following reasonable accommodation

(4) Offering differentiated instruction

Frfafed § & S T FHER HaE 1 3 T ¢ 2
(1)  gfaeast Tehr=R sl JicdTied LT
(2) fafay g w1 Fae™
®)
(4)

3fad THERE & 9o
fadfea fder <

3
4

Assertion (A) :

The less able a child is to do a task the more directions the teachers should give and as the child can
do more and more the teacher should help less and less.

Reason (R) :

Intelligence cannot be accurately measured by calculating IQ.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.

fweA (A) :

T o= fohdt sl ol e § fora | wem 2ian €, frerenl @01 39 €t eiferes Woha o 9 ot =nfeT oIk
S-S o= AfE q 31feeh R Hehl €, 8T I 7 9 HH Heg H! Tifed |

T (R) :

g I fG-A i TUHT Hich Hleh &Y F &l AT ST Hohell ¢ |
Tl fahed I |

(1) (A) 3R (R) S Terd 1

2) (A) 3R (R) I T&I € 31X (A) T (R) HEl A Ll < |

3) (A) 3R (R) I T T AfRA (A) i (R) T =A@ Tl el T
4) (A) TE ¥ AfHA (R) Tord 7|

P-IT ([ RRTRT A nm 9 P



22.

23.

A teacher notices that one of her students is highly distractible and has trouble paying attention
during class. Which of the following strategies would is an effective strategy in helping the student
stay focused ?

(1) Calling the parents and taking strict disciplinary action against the student.
(2) Giving the student repeated tasks to do during class.
(3)  Strictly telling the student to increase their attention span.

(4) Giving a timer to student for self-regulation and time-management.

e Tiferent =1 Aifeq foran o SRt e B Tty fa=ford ® o1k S8 e % SRE w9 o § el =it
¥ fAfafed § 9 S 9t WG 313 61 Sigd w1 H Heg i & U T g WA 8l ?

(1

) HI-Tar Sl AT S o FEaeh 9& STRIEAHS HRaTs il |
(2) ®T I FHE F A TR-9R A & forw Hef 7|

(3) BH hl W& 9§ ST GYUH Y e foT e

(4)

4) @-F iR gHg-veivA & fT o i 2EE S

Assertion (A) :

Learning from real-life problems and concrete experiences gives the children multiple pathways
for learning and retrieving information.

Reason (R) :

Development is relatively orderly and sequential.

Choose the correct option :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.

AR&weA (A) :

Arfaeh Sie i FreEnsti R 7 sTval § WeH | =i Sl ST R St wH w7 & foae &8 T
frera €1

T (R) :

foehTa 3TUeTIeha =rafed IR STk ¥ |

et fashed I |

(1) (A) 3R (R) ST Terd T

2) (A) 3R (R) I &I € 31X (A) T (R) HeEl HARSAT T € |

(3)  (A) 3R (R) S T € AR (A) Y (R) Tt AR Tl Ll © |

(4) (A) 5 T Afehd (R) TTerd T |

(
(
(
(

P-XT {IARIRT DA nm 10 P



24.

25.

26.

Work in progress Portfolios are an effective tool for formative assessment because :
(@) They involve students in the process of assessment.

b) They offer insights about the progress of individual students.

c) They focus mainly in the presentation of the final product.

d) They offer tangible evidence of student learning.

D (@ (b) (d) (2 (b), (9 3 @ @ 4) (@, (), ()
oI Hediehd & feTT e & JaIfd o1 <@ Gl Teh JuTell Julel § Fifeh -

(a) o AT i Fishal H BT ol IMHA hd © |

(b) & ARG B I WA IR § TG TaH L 2 |

(c) o = ®9 9 3w IR i TRfd W &1 higd L & |

(

(

d) o B AATY % 3 Held IS H T |
1) (a) (b), (d) (2) (b), (9 G (@, @ 4 (@), (b) (9

Which of the following is a core principle of constructivist learning theory ?

(1) Learning is primarily a passive process that involves receiving and memorizing information.
(2) Teachers should provide direct instruction and explicit guidance to students.

(8) Learning occurs when students receive correct answers and feedback from teachers.

(4) Students construct their own knowledge through active engagement with their environment.

Frfafed § § & |1 SEAeEmE! st faeid & 7o fagid 82

(1) @A™ qea &9 4 T HieRa ufshen 8 T8 = 9m 3 3R 915 W@ i © |
(2) Toerkl o BEH 1 T FEW R TIE ARIGEH JSH el =16l |

(3) ATy qa 2ra1 & ST BT b1 fnerent ¥ wE W IR wfayfy frerdt 7

(4) B 3 ARV % Y HiHT Heral & Wead § 79 J6 1 i wd ¥

The central argument of Carol Gilligan’s critique of Kohlberg’s theory of moral development is
around :

(1) Educational implications of the study for school going children.

(2) Ethics of care and the feminist perspective.
(8) Overestimation of children’s moral abilities.
(4) Use of experimental design in studying children.

ShIgcTelTl o Hfdeh T o Tagid ol hlel ffe ™ st ST &1 held ek © .

(1) Tha STH a1l It & fore steaam o Hferer ffeaned |
(2) <@ i Afqewdr 3R AETE e |

(3) o= Wi Afen gHAIS I AU iR |

(4) A ok TEAAT H AT WY GOl h1 STANT |

P-IT ([ RRTRT A nm 1 P



27.

28.

29.

30.

Sujata participates eagerly in the dance competition only because she is interested in winning the
first prize of cash. Sujata is :

(1) Failure-avoiding learner (2) Intrinsically motivated

(3)  Extrinsically motivated (4) Mastery-Oriented learner

G o Ui # Shael safelt Scqahal ¥ 9RT ofdl € Fifeh o8 Fehg ol JoH [ERR Siad § i Tt
HESE

(1)  STH%era ufer faeneff T (2) Tl 9§ URA T

(3) el ®9 9 UG 7 (4) TERG 3@ faeff 1

Which of the following process is essential in meaning-making of the information received from
environment and store it further in memory ?

(1) Retrieval (2) Attention (3) Decay (4) Forgetting
frrferiiaa o @ i ot wfsran araeRe @ wm SRl & st -frmio o) 38 wfa § e guda s & fo
AETTF 7 ?

(1) g (2) = (3) & (4) et

In which stage of Kohlberg’s moral development do children’s reasoning revolve around ethics of
law ?

(1) Autonomous morality (2) Pre-conventional morality

(3) Conventional morality (4) Heteronomous morality

HiecTsr o Hfdeh fasrd =t frg stawen # =i &1 T HA HI Afdhar % 36-TTE o g 2
(1) o AfdeRd (2) YE-uRufeR ek

(3) URufe ek (4) oo Afawar

An elementary school teacher can strongly influence students’ development of academic self-concept
by :

(1) Keeping very low expectations from special students
(2) Keeping very low expectations from all students
(3) Punishing autonomy and initiative in students

(4) Rewarding autonomy and initiative in students

T R foamer =1 frere =1 % Stetfire se-dye™ & fawma o1 gear § gurfad s Tk @ -
(1) oo SE1 & 98 ®F IR W@

(2) @t faenfe @ sga w0 sTiamd W
(3) BEI H WEAl R U8 hl Sfed HEAl
(4) B H EEAA SR T8 hl G S

P-XT {IARIRT DA nm 12 P



IMPORTANT / Hgeayqof

Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - 111 (Social Studies / Social Science).

gitgnfefat &t w9731 @90 AT Gt 9T - 11 ( T F f&GF717) a1 4T - 111 ( QrEfSes 7997 / Qs
faarT) @ & &

PART - Il / 9IT - 1l
MATHEMATICS AND SCIENCE / o1 9 fasm=

Direction : Answer the following questions by selecting the correct/most appropriate options.

[T : fefciaa o @ W &7 & [0 @gl/aad 39ga faeeq g

31.

32.

33.

The number of vertices (V), edges (E) and faces (F) of a polyhedron are respectively 10, 15 and x.
Then, the value of (3x—12) is :

1) 18 @ 7 k) 9 4) 14

ot sIgwheTeRt & IS (V), fRART (E) 31 wetehl (F) T S&amd shaet: 10,15 3R x €1 @9 (3x —12) 1 9H
g

(1) 18 @ 7 3) 9 4) 14

One of the factors of p3x+p?(x—y)—p(y+2)—z is :

(1) p@+py-z  (2) pax—py+z (3 px+py+z (4 px—py—z
p3x+p2(x —y) — p(y+2z) —z & PHES § ¥ T&H TPHES © :

1) px+py—-z  (2) px-py+z  (3) px+py+z (4) pAx—py-z

If a 8 - digit number 947 1 x 9 y 2 is divisible by 72, then which of the following statements is not
true ?

(1) x=3andy=1 (2) x=8andy=5 (B) x=4andy=9 (4) x=9andy=>5
Iqfe 8 - AR TN 947119y 2, 72 § fawsa §, d 131 # & &iEn Fer o =& ©2
(1) x=33Ry=1 () x=83My=5 (3) x=43Ny=9 @4) x=9 IR y=5

SPACE FOR ROUGH WORK / 7% &9 & feg smrg
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34.

35.

36.

A shopkeeper sells an article for ¥ 324 after giving a discount of 28% on its marked price. The cost
price of the article is ¥ 300. If he sells the article by giving 18% discount on its same marked price,
then what will be his profit percent ?

1) 24% 2) 10% (3) 19% 4) 23%

TS GHMGR T ] hl IHH Afohd Jod W 28% ! P2 TH T 324 T =l ¥ 1 % 1 7 oA T 300
T A o7 3| 9% I 3% 39 HAfhd oI W 18% i D2 I 4, TN SHBT A U9t 1 T 2

1) 24% 2) 10% 3) 19% 4) 23%

Concept was labelled as ‘Schema’ by :
(1) Van Hieles (2) Vygotsky (3) DPiaget (4) Bruner
AN TSRO 1 " ThiAT’ o & H AHifehd feran T o

(1) =& (2) =TT (3) TSt (4) FW

In triangle PQR, ZP=55° and QR=18 cm. In which of the following cases, APQR can be an
obtuse scalene triangle ?

(1) 4£R=35°and PR=18 cm (2) 4£R=25°and PQ=18 cm
(3) 4£R=15°and PR > 18 cm (4) 4£R=65°and PQ > 18 cm

33 PQR B, /P=55° 3iR QR=18 cm ¥ | 1= feerferlil & & fora® APQR We 1firek =hivn forsmrang ot
B TR R ?

(1) Z£R=35° dR PR=18 cm (2) ZR=25° 3R PQ=18 cm

(3) ZR=15° 3R PR > 18 cm (4) ZR=65° R PQ > 18 cm

SPACE FOR ROUGH WORK / 7% & & fag wig
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37.

38.

A student was given the following problem on percentage to solve,
“Find the percentage of decrease if the population of a city decreased from 28,000 to 26,500.”
She wrote the following solution,

Original population = 28,000; New population = 26,500
26,500

9 = —— x100% = 94.6%

% decrease 28,000

Which of the following is most appropriate with respect to the response of the student ?

(1) Student has made a careless mistake.

(2) Student is able to understand the concept of percentage but is not able to understand
percentage of which quantity is to be found.

(38) Student has solved the question correctly but has used wrong symbols in solution.

(4) Student does not know the concept of percentage.

e faenedt =i wfavraar | fF=fafad T9en g 3 & S T,
" TR T WX T SHEA 28,000 § FEHT 26,500 B T8 & W STHSA o He i T 1 e |’
S fr=fafea ga fora,
YRIY SHE = 28,000; T8 SHEEAT = 26,500
26,500
T H % = 58000
foreneft & W & Hed § F=fafed § 9§ 1 999 39 T 2
(1) foeneft 3 sram@uEEw T I o ¥
(2) Toreneff gfaerad st sTauRoT H THSH § e § W] 98 I8 99 W § w7 ¢ TR fhw ufr =+t
HfcrTaar 1 AT §
(3) Tormeff 7 7va 1 WE Ak ¥ 7 fohan B foheg 397 SR H TTera o=l o1 39T fohan 7
(4) Toremeff gfaeradn i STaERem sl T& ST |

X 100% = 94.6%

The lengths of the parallel sides of a trapezium are 11 cm and 25 cm and the distance between
them is 12 cm. Its area is equal to the area of a rectangle whose sides are in the ratio 3 : 2. What is
the perimeter (in cm) of the rectangle ?

(1) 70 (2) 40 3) 50 (4) 60

et Tete 9gys ST IHid YT 11 cm 3TR 25 cm € 1R ST o9 6t g 12 con &1 S9RT &9%el 39
ST o &hel % e § TRt ST 3: 2 & 79[ | €1 39 7 1 IR (em H) ®ME?

1) 70 ) 40 3) 50 4) 60

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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39.

40.

41.

x varies inversely as y. When x=3.5, then y=2.4. What is the value of y when x=5.6 ?

1) 2.8 2) 1.4 G) 15 @) 2.1
X, y o WY FSHATIIN! fo=R0 FIA S| T ¥ =358, Ty =2.4 8| 9 x=5.6 T, T8 y I A 1 TAT ?
1) 2.8 2) 1.4 ¢) 15 @) 2.1

The product of two rational numbers is —4—;. If one of the two numbers is —g , then the reciprocal

of the other number lies between :

) L oand + ) > and— (3 — and ~ 5 Loand 2
(1) jand3 (2) 7 and 55 (3) 3o and 3 (4) g and 7

< ufeE Hened o IHEd —4—;) g AR A demsli i 4 T —g g, @ T Hemn w1 Fokd 1 %
T Rea ¥

1 1 9 9 1 1 1
M) 4 R 3 @) 20 R 50 ®) 50 R 5 @) 5 R 4
National Education Policy (NEP) 2020 recommends that Sports Integrated Pedagogy needs to be
used in classroom teaching. Which among the following are correct in the context of using sports
integrated pedagogy in mathematics classroom ?
(a) Teaching-learning process shall become joyful.
(b) It is not possible to use sports for teaching mathematics.
(c) It will be time consuming and hence needs to be avoided.
(d) Apart from popular sports, there are many indigenous sports which can be used in teaching

mathematics.
Choose the correct option :
(1) (), (c)and (d) (2) (a)and () (3)  (b) and (c) (4)  (a) and (d)

T forem ifa, 2020 fawifer widt © foF T Tt et 1 e § ST HH i STEvTehdT ¢ |
WA Tahicha et & G # 7o ot hanl & fau fefafed § 9 «F @ % 98 82

(a) Toreror-sifenmm wfshan eTeegrrs & SEt |

(b) TS HT START IO T H g T ¥ |

(c) T9H ogd §HE T B S dl 39 2Tl =fey |

(d) 9FEs Tl % ST %3 WEeu W § SR STEnT 1o Yo | foha S Wehat €1
F@'ﬁw?\ﬁ

(1) (), @ RE) (2 (a) 3R () (3) (b) 3R (o) 4) (a) ¥R (d)

SPACE FOR ROUGH WORK / 7% & & fag wig
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42. BD is the diagonal of parallelogram ABCD such that ZCBD=12x, ZABD=7y, ZADB=60° and
ZCDB=28°. Then, the value of 2x+3y is :

(1) 23° 2) 20° 3) 21° (4) 22°

freht T =qds ABCD &1 fasul BD 36 WehR © ff ZCBD=12x, ZABD =7y, ZADB=60° 3R
ZCDB=28° ¥ & 2x+3y &l AH T :

(1) 23° @2) 20° 3) 21° (4) 22°

43. Which of the following is not a dimension of assessment of mathematics learning ?

(1) Mathematical reasoning

(2) Communication

(3) Patterns and procedures

(4) Disposition towards mathematics

frefafed 8 § wA-91 1o SIfrm % sTehe 1 ST & § 2
(1) I T

(2) FEYY

() ufdaH (Yei) IR ufshan (FE-fafy)

(4) TIfora < gfd E=mH

44. If x=1.011+10.11-12.101+0.1011, then what should be added to x to get the sum as 1.1 ?

(1) 1.1311 ) 1.9789 3) 0.3111 (4) 0.2211

afg x=1.011+10.11-12.101+0.1011 &, & x & =1 Sel WY, fT9E IRThet 1.1 9Tt &1 2

1) 1.1311 (2) 1.9789 (3) 0.3111 4) 0.2211
SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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45.

46.

A middle school mathematics teacher poses the following question to her class.
“Which type of graph would you use to show the following data ?

(a) The heights of participants in an athletics meet

(b) The number of passengers boarding trains from 9:00 am to 9:00 pm at a station.”
The intention of the teacher is to -

1) Teach the use of histograms for data representation.

2)  Help learners understand the difference between bar graph and line graph.

3) Introduce the concept of pie charts.

4) Teach line graph through contextual situations.

e TR i o st we fafameer stoet wan & wHe frefafed e wedt 7

“frefafad el ol TuH & foT 319 ford JohR & 2Teia 1 ST i ?

(a) Toreht werhe wfefiman # gfawil o &g

(b) forel TIA T UTE: 9:00 915 § FH 9:00 IS Teh LoFMiedl § S dfel A bl e’
AT T ST T -

(1) siierel & fequ & feru stafes & STEnT 1 fnerr e

(2) TUS-IE R W-3TeE & o= & S Sl wwer § frenfeli ot werd we |

(3) TUE-TE ! STAHRUN 1 U= |

(4) T@I-3TerE 1 Gevfcren TR e e )

Teacher conducted an oral assessment in class and found that Ram can speak definition of all
types of numbers - odd, even, prime and composite accurately, but not able to identify the numbers
accurately when given a set of numbers.

Which of the following is most appropriate for the above situation ?

(1) Ram has analytical ability.

(2) Ram has good memory but lacks practice.

(3) Ram has good memory but lacks concentration.

(4) Ram has good memory but lacks conceptual understanding.

foreren 3 e W Hifgeh 2Tehe 1 A fohen TS99 9 ar e T T fawm, 9w, 19 iR v St
Geft YR ! sl it g 9§ gRUTST a1 Hehdl €, W 59 SEenshi & ay=a fo e 9d 9%
HEIST shi WE T W e Tel 9@

S uRfeafa & o frafafea § § @@ @ sifa-sugea €2

(1) T ¥ foweroTee Jrad § |

(2) TH H TR I T § TR 3T HY HH T

(3) M I T VIRl T=ST B U] USRIl hi T B |

(4) TH P T Wl TS § T STARONEHE ailel i A |

(
(
(
(

SPACE FOR ROUGH WORK / 7% @&Td & {eTT STTg
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47.

48.

49.

The area of the curved surface of a right circular cylinder is 4400 cm? and the circumference of its

base is 110 cm. Its volume (in m3) is : (Use 'rr=2)

(1) 0.0382 (2) 0.0284 (3) 0.0385 (4) 0.0285
et oid I S 1 9% TS S%e 4400 cm? § 31X SHF STMER T IR 110 cm €1 Sie &1

AT (m3 H) T (Tr=2—727=b"[9?ﬂ"15|ﬁ'ﬁrﬂl)

(1) 0.0382 (2) 0.0284 (3) 0.0385 (4) 0.0285

The difference between two supplementary angles is 20°. If the smaller of these angles is p, then

the value of 3p—50° is :

(1) 190° (2) 310° (3) 270° (4) 250°

< HYTH HIU H AR 20° 71 A T F B B0 p 7, W3p—50° FAA T :
= P p

(1) 190° (2) 310° (3) 270° (4) 250°

—1\°°® o\ 4 , A

If X _ (_j - (_j , then what is the valueof | — + =| ?
y 3 3 y X

L, 48 ] AU , 38

( 265 2) 16 48 4) 73

_a8 _3 o 38
D T @ T ST @ 7

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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50.

51.

52.

If A= —2x2+12x, B=11—-8x+3x2 C=17—-4x2 and D=x2—x—3, then what is the sum of the
co-efficients of x2 and x in (A+B+C—D) ?

1 3 2 0 G -1 4) 1

I A= —2x24+12x, B=11—-8x+322 C=17-4x2 3R D=x2-x-3 &, @ (A+B+C—D) H 223 x
% TOTIhT BT AT

1 3 2 0 G -1 4) 1

A student listed the following properties of Rational Numbers. Which one/ones is/are correct ?
(a) A rational number includes integers.

(b) O (zero) is not a rational number.

(c) All fractions are rational numbers.

Choose the correct option :

(1) @and(®) () @and(©  (3) Only (b) (4) Only (0

e foreneft 3 uftia Gemeti & frafafaa ot & g=t o | 378 @ SE-ard g8 BE ?
(a) U UREF G ¥ quiis Fimfed ¥

(b) I (0) IFET e T R

(c) Tt = uftde g 2t ¥

& fohed 9 -

M @FEH @ @FE @) F() (4) F ()

In triangles ABC and DEF; ZB=90°, BC=8 cm, ZA=40°, DE=8 cm, ZF=40° and ZE=90°. Then,
which of the following statements is true ?

(1) AABC = AFED, by AAS (2) AABC = ADEF, by RHS

(3) AABC = AFED, by RHS (4) AABC = ADFE, by AAS

st ABC 1R DEF #; /B=90°, BC=8 cm, ZA =40°, DE=8 cm, Z/F=40° 3R ZE=90° ¥ | ad, f7=
FHE H W HA-F HUT G © 2

(1) AABC = AFED, AAS 3R (2) AABC = ADEF, RHS §RI

(3) AABC = AFED, RHS §RI (4) AABC = ADFE, AAS §RI

SPACE FOR ROUGH WORK / 7% & & fag wig
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53.

54.

55.

Mathematics is a way of thinking since :

(a) It provides an opportunity for students to engage in proofs and examining patterns.
(b)  Students reproduce formulae and symbols during problem solving.

(c) Students use appropriate strategies for solving various new problems.

Choose the correct option :

(1) Only (b) (2)  (a) and (b) (3) (b)and () (4)  (a) and ()
IO Tk W= T AT § AN -

(a) @ forenfafai =1 wreall wd gfaai & frdter § o (Herm) W & fa 31 yee & 7
(b) TEE FHIEM % SR foenell O v fo=i o1 9w €

(c) Toreneft fafu= 2 Tuesti &1 goem #1 % foru Sugea feat 1 ST S )

& Ty =1 =37 wife

(1) = (b) @) @B @) OFE @) @ FE

Three numbers are in the ratio 2 : 3 : 4 and the sum of their cubes is 33957. What is the sum of the
three numbers ?

1) 81 ) 54 3) 63 4) 72
T G@T 2:3: 4 % ST H € IR I SHI 1 AN 33957 ¥ 1 37 A Gl 1 A o ¥ 2
1) 81 ) 54 3) 63 4) 72

Three consecutive integers are such that when they are taken in increasing order and multiplied
by 3, 5 and 2, respectively, they add up to 99. What is the sum of the original first and third
integers ?

(1) 24 2) 16 (3) 18 (4) 20

9 AT qUlieh $9 TR o 519 3% dgd U hA H fordl STl © ¥R el 3,5 Q912 | 0N Sk Sirel
ST ®, d ANTHS 99 T Bi1 € | TR T8l qen e quiishi <kt 2T 3 § 2

(1) 24 2) 16 (3) 18 (4) 20

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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56.

57.

58.

The following table shows the number of different fruits kept in a carton :

T f P
yPeo Mangoes | Apples | Oranges | Guavas ome
fruits granates
Number 44 56 42 30 38

If a pie chart is constructed for the above data, what will be the angle of the sector representing
apples ?

(1) 100.8° (2) 79.2° @) 72° (4) 96°
= wrofi ot fesa o w@ U fafir= wall o1 desti s <9 7= ¢
el & it} g Ay | smEg | 3FR
TER
e 44 56 42 30 38
fg ST Sl 1 Teh UIE =S ST ST §, A SH BR2r@s o1 shio7 <71 2 T Yeil ol <ifar € 2
(1) 100.8° (2) 79.2° (@) 72° (4) 96°

A box opened at the top is made of wood of thickness 3 cm. Its external length, breadth and height
are respectively 1.48 m, 1.16 m and 83 cm (base =length X breadth). What will be the cost of
painting its inner surface at T 150 per m? ?

(1) I 84250 (2) 838.20 (3) X 839.10 (4) < 841.40

TR ¥ GaAT g T 991 3 cm TSI TS H 91 § 1 THHT QI A9E, ASE aGT SoTE HH:
148 m, 1.16 m 3{R 83 cm © (3MHR =&4E x ASE) | TR AdReh Tl W T 150 ¥fd m2 & T § e
T ! AT = B ?

(1) R 842.50 (2) 83820 (3) % 839.10 (4) T 841.40

If the median of the data 30, 8, 7, 3, 17, 15, 21, 24, 29, 23 is x and the median of the data obtained
by replacing 3 by 33 and 8 by 18 in the above data is y, then what is the difference between
yand x ?

1) 4 2 1 G 2 4) 3

afg stikel 30, 8, 7, 3, 17, 15, 21, 24, 29, 23 &l HILAH x © AR 7 Tihel | 3 1 33 9 91 8 &l 18 ¥
wfaeenfud & W YT STkl T WEE A y B, A y S x A SR 07 ?

1) 4 2 1 ®G) 2 @) 3

SPACE FOR ROUGH WORK / 7% & & fag wig
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59.

60.

A class VI mathematics teacher posed the following problem to her students :

“In a morning walk, three persons started together. Their steps measure 70 cm, 85 cm and 95 cm
respectively. What is the minimum distance each should walk so that all can cover the same
distance in complete steps ?”

Which of the following concepts would be required to solve the given problem ?

(1) Concept of proportion

(2) Concept of HCF

(3) Concept of LCM

(4) Concept of division

el VI shi Teh 70T shi fiferent = e1o ferentefei o et freferiad g9 @l

“OTd: hTeld WX H i SAfed Toh WY Tl YRY i 81 S heHl i des A 70 T,
85 3. oK 05 AT, ¥1 T W T < R gh T Y T8 T R e #
frrefatad § - sreRoTd fU T 9% 1 & F & g e g 2

(1) HHY i STURM

(2) TEIH GHIYES (H.9.) i FATLURON

(3) TETH HHIYEh (A.H.) i STERT

(4)

4) TI9SH W ATYRON

Which among the following Learning-Teaching Resources (LTRs) are most appropriate for visually
challenged students in mathematics classroom ?

(a) Geogebra (b) Taylor’s abacus (c) Computer (d) Spreadsheet
Choose the correct option :

(1) (b) () and (d) (2) (a) and (b) (3) () and (d) (4)  (b) and (c)

Tiford skt men H gftesnfya forenfei & fau fr=fafea st faeor garemt (o S o) 8 4 = o ged
ST T2

(a) TorETSEr (b) ZeR 1 FFaR (c) HHA (d) @eEie

Tl fashed _?ﬁ :

1 OO @ @G @ MO @ OEIRE

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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Direction : Answer the following questions by selecting the correct/most appropriate options.

f[Rsr:  frEfafad e & 3w &7 & 7T WEl, qad 3ugerd faeeq T

61.

62.

63.

Which of the following plant disease(s) are caused by bacteria ?

(a) Rust of wheat (b) Citrus tanker (c) Yellow vein mosaic of bhindi
(1) Only () (2)  (a) and (b) (3)  Only (b) (4) (b)and ()
frefafed 9 § &F 9 ey I (=fy/ M) Sfar] 51 8 § 2

@) TEHFHamE (R wfRe) b) fogg T (c) Tt = dia fm fepedi

(1) 54 () @) @) @) F() () © ()

Identify the correct statement(s) :

(@) : A fact is an observation that has repeatedly been found to be true over the time.

(b) : A law is a theory that has repeatedly been found to be true over the time.

(1) Neither (a) nor (b) (2) Only (a) (3) (a) and (b) (4) Only (b)
TE FoF/FE H TEEH FIT ;

(a) : T TH T ¢ FoT8 FHAIR TSR F& 911 =1 |

(b) : frm T fagia & 59 a9EmR sReR 9@ o= @ gl

(1) @MEOAFRAT (2 F9 (@) () @FRE @) FA(E)

Find the set that correctly matches the plants in column A with the mode of asexual reproduction
which they exhibit :

Column A Column B
(a) Rose (i) Budding
(b) Yeast (i) Spore formation
(c) Ferns (iii) Fragmentation
(d) Spirogyra (iv) Pollination
(

v) Vegetative propagation
(1) @-(iv), (o)), ()-@), (-G (2 @-v), (0)-), (c)-(i), (d)-(iii)
@) @), O-0), ©-(v) (d-(iEE) @) @), 0)-i), (©)-(), (d)-0)

U Y= I ¢GU S hicH A H UIeUl 1 e gN Yefvia ereifie s =i fafe & g @& yhr 9
‘{[Elﬂ FATR

HicTH A HicH B
(@) T (i) g
(b) T (THR) VECISIVECE!
(c) & (TuIi) (iii) @A
(d) TR (iv) IO

(v) IO gaEa

(1) (@)-(iv), (b)-(iii), (c)-(1), (d)-(ii) ) @-(v), (b)-(), (c)-(ii), (d)-(ii)
@) (@)-@v), (b)-(0), (0)-(v), (d)-(iii) 4)  (a)-(v), (b)-(iii), (c)-(ii), (d)-(i)
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64.

65.

66.

Which of the following would be a most suitable strategy to introduce the topic ‘deficiency diseases’
at upper primary level ?

(1) Hold a discussion on common human diseases.
(2) Provide a definition of balanced diet and introduce the concept of deficiency.

(38) Arrange for a doctor’s prescription pertaining to a deficiency disease and hold a discussion
around it.

(4) List the various nutrients and the functions they perform in human body.

I WU TR W SFAmEs=1 I fa0g Sl T qd e @ efatad § 9 SiF 9 9ol S9ge Wi g 2
(1) 9E= JHe Feiet T 9 gf=r=t

(2) Hdferd STER it IRYTHT YSM HTAT T STHTE hi STTUROT hl FE&Id HE

(3) AWES AT 9 Feifed sfeet (fafehcden) o UQ¥M Sl el Y 39 W IR==l el

(4) AFE IRR H fafvs went iR 59 franstl o1 o foae & € S8 geias &

Which of the following is the most suitable strategy for introducing the students to the concept of
‘chemical reactions” at upper primary level ?

(1) Hold a discussion on chemical reactions which students are likely to have observed in their
lives

(2) Explain the concept of valence electrons and electronic configuration

(8)  Write the chemical equations in symbolic form and ask students to observe

(4) Define a chemical reaction and give examples

= Wfeh ®R W qHEE Al i Steaemen § foEnfeE s aifad s & fag et § 9

FH G fq Suge W § 2

(1) = qEEfE it w aie=t s e foaenfefei 7 37 Sfed § dwifad &9 9 steeisn
@l

(2) AT SoiagM 3R SoaRieh fa=aTe i STAHRUT St AR HLAT
(3) TEMH THHT Sl Fotehicdsd &9 H foraan qen faenfeli =i staeie & & fag we
(4) T stfafshan skt aRefir e qen SSmIor ol

A ball is thrown up in the air. It reaches a maximum height and then returns to the thrower.

Which of the following quantities have the same values during the upward and downward motion
of the ball ?

(1) Work done by gravity (2) Acceleration (38) Force of gravity (4) Displacement
Teh g o1 &1 § TR i 3R ThehT 77| I8 SATUhdd SeE Tk Tga- & U theb dTcl o I SToH 37
T |

Tig 1 IuRgEt iR st nifd/=na & wwa frafafeaa 5 9 SF 9@ afeEl & a9m 39 €2

(1) 7% g} fhan T @ (2) @R (3) T Kl IA (4) foreemm
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67.

68.

Which of the following is the most suitable reason behind Newtons theory of gravitation being
regarded as an excellent theory ?

(1) It has been developed over a long period of time
(2) It explains larger number of observations by making fewer assumptions
(38) It has been arrived at after thorough experimentation

(4) It has been formulated using the precise language of mathematics

I o ey % fagid *l T Sp fagia A & W frefafea § 9«0 o getfus suga sro

) 38 ey srafy o fasfaa feran o ®
(2) IE HH URUM SR IS WA B U0l i AT BT 7
(3) 38 W YO T % g @ uE e
(4) 38 RYg TR o1 1 AT ek GAeg TR T

Read the following text :

When a negatively charged rod is brought near an uncharged electroscope,

(a) the electroscope leaves move further apart

(b)  Dboth the electroscope leaves acquire similar charge

(c) the negative charges pass on to the electroscope causing its leaves to move further apart
Of the above three statements :

(1) (a), (b) and (c) are inferences

(2) (a) is an observation while (b) and (c) are inferences

(3) (a) and (b) are observations and (c) is an inference

(4) (a), (b) and (c) are observations

ferrfefam ora 1 T -

e RO &9 A A& B (W) 1 S forgasdl & e @ s g,

() foregaeel ufeell T gat & oik g smérft

(b) T forgaestt ufaar Tam stew st wa

(c) ROk STai i feregagelt W gEiafd foran S e aftomrasy saet ufhal Th-ga | 3R
T =l It €

SR A FoA
(1) (a), (b) 3 () A &

2) (a) TTWAHA T EE (b) 31 (c) A ©
(3) (a) 3R (b) 3TTAFA T IR (c) ITAF T
4)  (a), (b) 3R (c) STercireh &
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69.

70.

71.

72.

A box of mass 500 gm is lying on a horizontal table. Which of the following statements is true
regarding the force(s) acting on it ? [g=10 m/s?|

(1) An unbalanced force of 5 N acts on it in the upward direction

(2) No force acts on it

(3) An unbalanced force of 5 N acts on it in downward direction

(4) A pair of balanced forces acts on it

Sfast (3TWRY) U1 (TIA) W IS T T feadl (W) o1 gomE (Hafd) 500 79 &1 59 R o a1
o1/ 9ell & oy § fAfafed § 9 & 9 w29 9@ 82 [g=10 m/s?]

(1) SIRgET faen & 39 W5 N 1 s16gfad o & Sl §

(2) S8R HE TA FE T HAT

(3) g faen ® SU W5 N &1 SFqferd act e i €

(4) Tfad el &1 TH g () 3§ W FE FAT S

Which of the following is NOT indicative of the hypothesising skill ?

(1) Identifying variables for an experiment

(2) Formulating questions which lead to inquiry

(3) Attempting to explain observations or relationships in terms of some principle
(4) Using the senses to gather information

frafafea § @ S o1 9fieheu T 3 & v &1 Fdees T8 €2

(1) et g & fore =/ sl qeam

(2) WSEH d o S 3Tl 999 S

() F© Tagidl & fawa o sEciedl STuar HeHl Tl RAT HI I TAH ST
(4) I THA H o o JEfdl 1 STANT HTT

N

Seed dispersal may be said to help the plants in all of the following except :
(1) produce new varieties

(2) over crowding

(38) avoid competition for sunlight, water and minerals

(4) invade new habitats

HEl-S Hehell & Tor FrAfetfaa o @ @t o &S gehtol= 3 aredl =l oy wg=mn § (SR &l €) foem -

1) TfFrH @ A

(2) AfdEG
(3) ¥ % THE, Sd T§ @i & foae gfaeadt e &
(4) T SAETEl H I GRS I

X___is a device which is used to see around corners and is based on the principle of __ Y

X and Y respectively are :
(1) Periscope, dispersion (2) Telescope, reflection
(3) Kaleidoscope, refraction (4) Periscope, reflection

X T I & FIEh1 T i & 56RTE o@ o fae ffen s € ek =g Y % fasia W enaifia 2
X $RY e §
(1) ufeef, gentoH (2) TEEH (STAERIT), T
(3) gETeEl, qed (4) OReEl, wEE
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73. Match the substances in column A with their chemical names in column B.

(A) (B)
a) Slaked lime i)  Calcium oxide

b) Table salt ii) Sodium bicarbonate
c¢) Limestone iif) Calcium carbonate

&

Calcium hydroxide

Quick lime Sodium hydroxide

< <
=

-
N

Sodium chloride

(

(

(
Caustic soda (iv)

(

Baking soda (vi

)-

N =
~ ~—

(@)-(iv), (b)-(v), (9)-(iid), (d)-(id), (e)-@), (E)-(vi)
(@)-(iv), (b)-(vi), (o)-(iii), (d)-(v), (e)-(0), (F)-(ii)
(@)-(vi), (b)-(ii), (0)-(v), (d)-(i), (e)-(iid), (F)-(iv)
( )-@), (b)-(vi), (c)-(iii), (d)-(v), (e)-(ii), ()-(iv)
A ¥ feu e verelf o1 shiem B H fu Tu ST T T % | gae Hif

&3]

AAAAA/(—D\/—\/—\/—\/—\
~ ~— ~—

N

(

(A) (B)
a) I i) hfcTdH MRS
b) H& THR i) WfeTH SmEeHTEie

c) T UeeR iii)

v)

f) skt EreT (WMD) (vi)

hfcaaH CACIEE

°h|('H¢I‘-I [JEEIENIES]
Tifean TRSIFRS

aifeay ENINES)

( (
( (
( (
(d) il drel (iv)
() fommmam
( (
( )
(
(
(

1) (@-@v), (b)-(v), ()-(iii), (d)-(i), (e)-(i), (H)-(vi)
2)  (@)-(), (b)-(vi), (0)-(idi), (d)-(v), ()-(1), (H)-(ii)
3)  (@)-(vi), (b)-(i), ()-(v), (d)-(3), (e)-(iii), (F)-(iv)
4)  (@-(1), (b)-(vi), (0)-(iii), (d)-(v), (e)-(ii), (F)-(iv)

74. The difference between maximum and minimum resistance that can be obtained by connecting

1
three resistances of 3 Q each is :

) @ 20 o)

SHfearem iR =T RIS 35 o 1 AR S T

g, T
M 50 @ 0 ©)
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75. Which of the following gases are responsible for acid rain ?

(a) Nitrogen (b) Oxygen () Ozone

(d) Sulphur dioxide (e) Nitric oxide

(1) (d) and (e) (2)  (a) and (b) (3) (b)and (c) (4) () and (d)
Frfafea e W T4 sl g % foag swerEt €2

(a) TS (b) TS () S|

(d) HH SEHAFES (e) TEfgeh oS
(1) (d) 3 (e) 2) (a) 3R (b) (3) (b) ¥R (o) (4)  (c) ¥R (d)

76. Read the following statements carefully and select the correct option.

Assertion (A) : The stars in the night sky appear to move from east to west.

Reason (R) : The earth rotates from west to east.

(1) (A) and (R) are both incorrect.

(2) (A) and (R) are both correct and (R) is the correct explanation for (A).

(3) (A) and (R) are both correct but (R) is not the correct explanation for (A).
(4) (A) is correct but (R) is incorrect.

frAfafEa weAl &l eAMYes 9feu a1 Wel faehed 1 =& it |
ARYRT (A) : TR e § AR g I e i IR fa F T B S
Wk (R): et ufvem @ ud fon § gofa et 7

(1)  (A) 3R (R) ST Tora |

2) (A) 3R (R) A T € 9901 (R), (A) BT GE AR R |

(3) (A) 3R (R) I W& & g (R), (A) T & = T ¥
(4) (A) W B UG (R) T B

77. Identify the set of micronutrients (nutrients required by plants in small quantities) :
(1) Zinc, Iron, Manganese (2) Potassium, Magnesium, Copper
(3) Copper, Phosphorous, Calcium (4) Sulphur, Aluminium, Chlorine
frfafea o 9 99 (1Y) F&H 9okl ok IY=d (T AEeT § kUl gRIT ST 9Iveh) hi UgE
HIFSY :
1) 5% (=), 95, HHE (2) ieferm, Friferm, dfen

oo~

(3) e, TRIEwHRH, Shicwam (4) Hew, UGMHAMTH, FARA
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78.

79.

80.

Read the following paragraph carefully and select the option which would correctly fill the blanks
in the given order.

Sound is produced by vibration and different musical instruments have specific vibrating parts. In

a_ X  the sound is produced by stretched strings,ina Y it is the stretched membrane that
vibrates and ina  Z the vibrating part that produces sound is the air column.

X, Y and Z can respectively be :
(1) ektara, violin, piano (2) sitar, harmonium, dholak
(3) dholak, ektara, mouth organ (4) guitar, tabla, shehnai

frefafad =g a1 eaMgds afeu den 39 faswed &1 9o Hifs sifer T2t JhR & feu 7u 9 § o
T I A

waf O R 3eqel Bt § qen P amer = o fafvre shomm 9w A €1 X H wafy @i anl gw
SOF A T, Y H aifa foeelt § S U Rl g A7 H e Icqe i ATl e A, aR-w e
(Hie) B

X,YWZW:‘@W%:

(1) 3oham, e, fam 2) fT9ar, i, St

(3) @IcTeh, AR, TE-3TN (4) TR, deret, SR

A teacher, while teaching the chapter ‘Body Movements’ to class VI students shows the following
images to her students :

A sailing boat, swimming fish and a flying aeroplane. She then asks the students to reflect on the
shape of the images and the manner of movement. Which of the following are likely to be employed
by students in answering ?

(a) Classifying (b) Observing (c) Inductive reasoning (d) Measuring

(1) (a) and (d) (2) (a) and (b) (3)  (b) and (c) (4) () and (d)

T fafarent st e VI o foenfaai =1 wRR A Wi’ e ug wwa fefatea gfafas foamd
g

ST Sl A, Tl TFelt IR Teh ISl gaTs Sfelst | 98 qqueard faenfef=i s ufafersi st emehfa e nfa
& YR ! gfafafed o & fau wedt 81 W <4 & foau faenfoai gro fm § 9 foaen denfaq w9 9

BRISCRE RIS
(a) =R (b) TR (c) SATTHATHe dehefieral  (d) A
(1) (a) 3R (d) 2 (a) 3R () (3) (b) 3 (o) (4) (o) ¥R (q)

Identify the correct statements from the following :

(a) Generally non-metals do not react with water.

(b) Generally non-metals do not react with acids.

(1) Neither (a) nor (b) (2) Only (a) (3)  Only (b) (4) Both (a) and (b)
fefeiea ® & W& el 1 ge=H it ;

(a) EEIE: ST S ok WY AAlRA & A |

(b) TTHTIG: 7T TRl o Tel ATIfoha & i |

(1) AW (@TH () (2) 9 (a) (3) e (b) (4)  (a) ST (b) <A
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81.

82.

X and Y are thick, black liquids which can be used for metalling the roads. X is derived from
petroleum and Y is derived from coal. Which of the following can X and Y respectively
be ?

(1) Coal Tar, Bitumen (2) Bitumen, Coal Tar

(3) Coal Tar, Charcoal (4) Charcoal, Bitumen

X R Y TG 1ol 291 & TSTehT TA1T Tehi ohl Tkl 3 o fore foran ST Akt 81 X USiferem & =cae © qe
Y e ¥ el §1 fefafad § 9§ SiF o1 swEen X 3R Y & 9k € 2
(1) i, fagaa (2) fagad, wiaar

(3) hICIAR, ARSI (hTSS-hII) (4) <R (HTS-hEe), fogad

Consider the test item given below and match the following :

Column - A Column - B
Unit of force Joule
Symbol of iron HCl
Formula of hydrochloric acid Ag
Unit of work —i|ij—
Symbol of silver Calorie
Symbol of battery Fe
Newton

Which of the following is not a reason that can be given to justify that the item is poorly
constructed ?

(1) There is inconsistency among entries

(2) For an entry in column A there are at the most two plausible entries in column B
(3) There are unequal entries in column A and B

(4) The matching pairs can be easily guessed

= & T8 Tderor Il R faer Sifaw o frefafea w1 gaa sife

i - A hHicH - B
I ht Shls (HTH) Sl
e o Taee HCl

TSI T8 1 Ag
wd hl T (AER)  —i|i|—

itel = T Ferdt
g0 1 fae Fe
A

7g 3fea fag w0 & foe i il S-G9 a1 & T € 3ue fr=fafea 8 @ &9 @ wro =@ foan s
Hehdl T 2

(1) fafeesi § (F o= #) fagnfa g

2) Hem A Y ot yfafie & fou wicm B sifisran < gfeager wfafear €

(3) HicH A R BH rmM yfafedr €

(4)

ferd gU T o1 TReTdl ¥ STTHM TR S Fehdl
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83. Read the following statements and select the correct option.
Assertion (A) :
Dried raisins when left in plain water for some time swell due to osmosis.
Reason (R) :
Plant cells have a selectively permeable cell membrane.
(1) (A) is incorrect but (R) is correct.
(2) (A) and (R) are both correct and (R) is the correct explanation for (A).
(3) (A) and (R) are both correct but (R) is not the correct explanation for (A).

(4)  (A) is correct but (R) is incorrect.

frefafaa wumi #i afew IR W& faseq &1 === FifvT :

AR (A) :

TET g fRaIiaet o6l 59 $8 99 & faw 91c Sa # Bie 3 T a1 98 Tl o R0 hd S ¢ |
e (R) :

Y HIVIHTS § SRR €9 YR IR freedt 2t T

(1) (A)7Ted § T (R) 9 R

2)  (A) 3R (R) I T € 9901 (R), (A) FI GE AR R |

(3) (A) 3R (R) I T&t € g (R), (A) T &l =07 T )

(4) (A) W& & W (R) o T

84. A body has a linear momentum of p and a mass of m. The kinetic energy of the body
is:

pZ
(1) pm (2) p’m (3) 2p’m @ -
& i o1 as Tort p a1 g (Fefd) m § 1 Tfas St = § 2

p2
(1) pm (2) p’m (3) 2p’m @ -
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85. Which of the following statement(s) is correct ?
(1) Fertilisers increase the number of friendly microbes in soil
(2)  Fertilisers are richer in specific nutrients as compared to manure
(3)  Fertilisers enhance the water holding capacity of the soil

(4) Fertilisers provide a lot of humus to the soil

frrferfea & @ =F 91/9 we w&@ 8/ 2

(1) Sothl 4 gar ¥ fi Sfrangsti <1 gen A 9fg & o §
(2) WIS I TET ISk Urehl & Hag § Ay w5 B §
(3) S T A TAYR el H Ifg L &

(4) Sl & g h TR 9 H gHE I Bt €

86. Read the following statements carefully and select the correct option.
S1: Rayon is a synthetic fibre.
S2 : Rayon is made without using any natural raw material.
(1) Both S1 and S2 are false (2) Both S1 and S2 are true
(3) Slis true and S2 is false (4) Slis false and S2 is true
Frfafad weAl ®l eamyes dfeu qen @@t foshey sl == HINT
S1: W U dfvere dg 21
S2 : XM o T et WTehfaeh e W1t o YRINT & ST ST R |
(1) S19S2TH Tod & (2) S19S2TH wE ¥
(3) S1 W@ T RS2 7w § (4) 17 € 3R S2 W §

87. Which of the following is not desirable with respect to carrying out of a classroom demonstration
by a teacher ?

(1) Follow up the demonstration with discussion
(2) Rehearse the demonstration before carrying it out in class
(3) Emphasise beforehand the linkages that students are required to make

(4) Supplement the demonstration with explanations

frafafea & 9 =9 91 foers g we | 9S9iF ol hEiad i & 999 H o+ T8 © ?

(1) oR=El & Y 9 61 AT HEl

(2) aT H FwEifad w | Yd UG H ST R

(3) T E B A el (HeHl) W FA <A et i s fomnfeEi & fae stewasw ©
(4) TSEH o sl ¥ G T (T FHE)
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88.

89.

90.

Which of the following best explains the statement “science promotes scepticism” ?
(1) Scientists are open-minded and willing to modify their ideas

(2) Scientists judge the validity of a claim based on objective empirical evidence
(38)  Science is purely inductive in nature

(4) Scientists do not trust the findings of other scientists

frafafad 8 @ 99 9 ®9 9§ ' fa9M Higdae &1 dagen <a1 &' e &) IR il § 2
1) S 3 foem At 2 € qen o1 fa=mi sl ®widid w3 & 355 e ©
2) fowafts stwifas Wedl % YR W SR <o T SEAT Rl 3Tehd §

3) foum yfa & g 9 W STHARTE ©

4) SRR TR () AR & Sir=-gRond R favar T@ wd §

(
(
(
(

Which of the following statements regarding rusting of iron are true ?
a) It involves a chemical reaction between iron and oxygen.

b) It is an exothermic reaction.

(
(
(c) It can take place at room temperature.
(d) It is reversible reaction.

(

1) (a) (b)and(c) (2) (a), (b), (d) (3) (b)and () (4) (a) and (d)
frefafad § ¥ ®F 9 FoF e o S o % Hee H W@ ¥ 2

(a) IE dre (AR) iR stfedioH & o= Tamfes sifufsman = wnfiet s &

(b) & TH SeATEdr AfufRar T

(c) ¥ W MY (HIS—dT) T & Hehell € |

(

(

(oW

) I% Sehuvia sAfufswar €1
1) @, M3 @ (@, ) (@ (3) (b) ¥R (o) (4) (a) 3R (d)

Which of the following is a set of animals in which all show external fertilization ?

(1) Frogs, fish, starfish (2) Hens, lizards, butterflies
(3) Lizards, butterflies, frogs (4) Butterflies, frogs, fish
frefafed § 9 37 Sigsii 1 ag=@ & 91§ S 9t srer e o e € 2
(1) Tich, Ao, CRwA () T, T, fadett

(3) fTousmd, fadell, Heh (4) faaci, Heh, Aol
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IMPORTANT / Wgwayqof

Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - 1II (Social Studies / Social Science).

witenfsfat @t 9T 31 @90 AT at WTT - 11 ( T & G777 ) AT 9T - 111 ( §TETfSTeR 379/ |THTfoTeh
faFr) & #3731

PART - Il / ¥ - 1
SOCIAL STUDIES / SOCIAL SCIENCE - A& g+ / Arifore fasma

Direction : Answer the following questions by selecting the correct/imost appropriate options.
f&9T : fretarad 399 % SR & & 1Y @el/qad 3uged fawed g
31. Our solar family consists of following celestial bodies :

(1) Planets, Satellites, Asteroids, Saptarishi

(2) Constellations, Planets, Sun

(3) Satellites, Planets, Pole star

(4) Sun, Planets, Satellites, Asteroids, Meteroites

TN UR 9fEar f=fafaa e fisi @ s e :
(1) U8, SUUE, geUe, xhv

(2) FemHed, T8, g

(3) SUUE, U8, Yd Nl

(4) ¥d, UE, STE, TS, IohIUS

32. Which of the following ideas was questioned by people from the seventh century
onwards ?

(1) Social privileges are a result of one’s birth.

(2)  Only human beings pass through countless cycles of births.
(3)  All human beings are equal at the time of birth.

(4) One could break the cycle of rebirth through personal effort.

el vrarest & YRH ¥ Frefafed § € forg faam @ aril 3 Fere e ¥& o fean?
(1) =R fadrfeer et 1 S <1 aftom 21

(2) Hae AHA S Siad % 3T =ohi o ToRd & |

(3) @l AfeR S % THI GHM € ¢ |

(4) AT TAE @ ST % =k W PEHN T S FhaT |

33. ‘Periyapuranam’, a Tamil work informs us about whom ?
(1) Soldiers and military generals (2) Kings and queens
(3) Scholars and poets (4) Ordinary men and women

‘IR, T afe Fia g6 foReeh IR H SR St § 2
(1) foufed R I=-S Rl Famd - (2) TS iR ufEi & an |
(3) fagri oIk wfadi & sk (4) TR gEEl iR Afgerned o aR o

P-IT ([ RRTRT A nm 35 P




34.

35.

36.

The book “Stripurushtulna’ was written by which one of the following reformer ?
(1) E.V. Ramaswamy Naicker (Periyar) (2) Pandita Ramabai

(3) Veerasalingam Pantulu (4) Tarabai Shinde
SHEIIET’ A Y& St Tl (Efafad § @ fora gured grn @t T ot ?
(1) 3.3 THREE TR (ARER) (2) dfed wemE

(3) diEfaT™ dqq (4) e g

Railway network is now extensively being built in mountainous areas. Select the most suitable
reason.

(1) There are advanced technological developments to enable it.
(2) Itis easy to construct railways in mountains.

(3) Mountains are highly eroded.

(4) Mountain people are making railways.

TRTE! &5 § 319 Yo o1 foregd M0 &1 W 71 2 SUgeR RIS = it |
(1) 38 F9a w * foe 3=7a et 1 faehm gam 1

(2) TeTel B Yol 1 ot e g ¥
() TRISTRI-AEaTI
(4) RIS TR YeTHT Bl o1 W@ 2 |

Read the assertion (A) and reason (R) carefully :

Assertion (A) :

Dadabhai Naoroji, one of the great leader of Indian National Congress, never become the President
of INC.

Reason (R) :
He was a businessman and publicist settled in London and for sometime a member of the British
Parliament.

Choose the correct option of the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explain (A)
(4) (A) is true but (R) is false

TUFHYT (A) TUT HIOT (R) Tl &1 § 9¢

AR (A) :

TRITE RIS, S fof R T 09 F 9 A 9, Ff o IRAT UL HIG F 31eAed & 9 |
T (R) :

8 FART AR YARE 91 9 ded § Wl 9 3R % 9 & fog fafew 99 & 95w off Wi
forferfad & 9§ W fomes 97 -

1) (A) TTod ¢ fReg (R) 9_T |

2) T (A) TE (R) 9 € G (R), (A) ! SARSAT Il & |

3)  IMI(A) T (R) W& ¥ fohq (R), (A) T AR &l e |

4) (A) T T g (R) T |

o~ o~ o~ o~
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37.

38.

39.

40.

Which of following two gases make up the bulk of the Atmosphere ?

(1) Ozone and Helium (2) Nitrogen and Hydrogen
(8) Carbondioxide and Oxygen (4) Nitrogen and Oxygen
frafafaa & & agHes &1 ifems o 9@t S 19 2

(1) iAok fermm (2) TEISH SR TEFeH

(3) e SRS IR Sl (4) e SR SifadeH

The true representative model of our Earth is :

(1) Globe (2) Map (3) Satellite image (4) Rugby ball
BRI gedt o1 arfae fEush gfaed ©
1) T 2) WEfaH (}) STWEIWE e (4) T g

The Child Marriage Restraint Act was passed in 1929. According to this Act, what was the respective
minimum age approved for marriage, for men and women ?

(1) 17 years and 15 years (2) 20 years and 18 years
(3) 18 years and 16 years (4) 21 years and 18 years

1929 ¥ a1e foamg oy siffram wiia foran om 1 38 sifafam 6 ST9ER qew qen digen & o ot =t
<[ 311 S Tohat et T8 ?

(1) 1739 qe115 99 (2) 2039 qU118 Y
(3) 18 a quU1 16 Y (4) 2139 qu118 9H

The earliest evidence of growing crops like wheat and barley are located in which one of the
following places ? Choose the correct option.

(1) Nilgiri hills (2)  Garo hills

(3) Malabar hills (4) Sulaiman and Kirthar hills

g T S S e ST % welgem wied frefafed # @ fhw o | fael €7 wd foskhed o1 g Y|
(1) e feew (2) TN feed

(3) WTER foed (4) YoM iR fRer feem
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41.

42,

Winds blow dry leaves down the pavement. How do winds blow ?
(1) Movement of plants and animals.

(2) Movement of air from high pressure area to low pressure area.
(3) Movement of air from low pressure area to high pressure areas.

(4) Movement of condensed air.

o wedh W iRt gEt ufel =i et €1 gad HY Fedt 7 2

(1) el &R Sfa-sigaii T

(2) 3= @ &7 9 9 I &5 1 3R 9 o i |
() T <@ &9 4 3=9 I &5 *! 3R a1 HF |
(4) A g & T

Read the Assertion (A) and Reason (R) carefully :
Assertion (A) :

In 1960, the bilingual state of Bombay was divided into separate states for Marathi and Gujarati
speaking people.

Reason (R) :

In 1966, the state of Punjab was also divided into two States Punjab for Punjabi speakers and
Haryana for Haryanavi or Hindi speakers.

Choose the correct option of the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explain (A)

(4) (A) is true but (R) is false

YUY (A) TUT HIUT (R) Sl AH § TE -

AFRHA (A) :

1960 | fgoTet sTeig Wid bl AXST SR ORI ot ANl & ford S STemT-1er T | et 7o |
0T (R) :

1966 | WsTTel =1 off fauTsH < Ul | g1 | Ui, gsirel i o fag oiR i, gt =1 fe<t s
el o foru |

frefafaa 4 @ @ fomed 94 -

(1) (A) @ § =g (R) S& |

(2) T (A) T (R) & E 991 (R), (A) T TS FAT L |
(3) i (A) T (R) W&l € fFg (R), (A) T e T2 |
4) (A) 5@ € fR (R) Tora |
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43. The diseases that spread from one person to another through water, food, air etc. are called as :

(1) Congenital diseases (2) Genetic diseases

(3) Communicable diseases (4) Acquired diseases

3 ST S T e ¥ e e B - 5, 5, 91 st 9 et €, 9
(1) ST STl wed € (2) eTafeTR ST FEd

(3) Hurviy swfEr #Ed € (4) SIfSid STt Fad ¥ |

44. Read the statements (A) and (B) carefully :
(A) : In 1770, a terrible famine killed ten million people in Bengal.
(B) : About one-third of the population was wiped out.

Choose the correct option of the following :

(1) (A) is false but (B) is true (2) Both (A) and (B) are true
(3) Both (A) and (B) are false (4) (A) is true but (B) is false
FHeAl (A) AT (B) hl &M 9 Tg :

(A) : 1770 H ST H Teh WA 3T o T Teh HAS RN ohl AR STell |
(B) : TH STohTcd H STl ohi Weh-ToeTd STt Ter &1 7 |

foretforfed § & W& fomed = -
(1) (A) 7Tea g foheg (B) W (2) < (A) T (B) T ¥ |
(3) THI (A) T (B) T ¥ | 4) (A) U2 ¥ fh=g (B) Tea |

45. Which of the following statements help in sustainable development with reference to present day
resource availability ?

(@) Reducing consumption of resources

(b) Increasing resource use

(c)  Recycling resources

(d) Reusing things

Choose the correct options :

1) (a) (®) (d) 2) @ () @ ) (@) (®) () 4) (), (©) (d)
frefafed 9 9 SF-91 97 a9 G99 o GH1EE 3TeHdl % G o @1l Haqaroia fosh H Her
LA Q2

(a) HEEA ! @Od Sl HEA

(b) HEEA % 3w H i

c) HHIEH 1 qH: TR

d) a&gsil &1 A ST

WE faehed &1 =594 Sifsu |

1) (@), (b), (d) (2) @), (©) (@ 3 @, (b) () 4 (b), () (d)
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46. Choose the statements that explain the Ganga-Brahmaputra Basin in Indian subcontinent.
(a) Coniferous forests grow in this region.
(b) The Basin lies in sub-tropical region.
(c) The area is dominated by Monsoon climate.
(d) The basin area has a varied topography.
Choose the correct option :
1) @) (9 (d) (2) (@) (b) (9) 3 (), (o) (d) 4) (@) (b) (d)
ARG ITHBIG H T-SeTYS ST hi SREAT i el T I =3 HiTIC |
(a) TG YW H TFUR o° I
(b) T S U ¥ feera ¥

(c) 39 &3 FI Sar J&Ad: I T
(d) fFa & § fafa= yeR =it T 7
HE fasheq &1 =594 Sifsu |

1) @, (©) () 2) (@, (b) (9 ®3) () (), (d) 4 (@), (), (d)

47. Torrid Zone on Earth receives maximum heat as :
(1) rays of the sun are slanting here
(2) itisland locked
(38) itis bounded by oceans
(4) the mid-day sun is exactly overhead

Yedt W SO hicaeT & Terd 3Tfereh o1 W hid © e
(1) = g Rl feeast gt €

2) USRS ¥
(3) IE TR ¥ ol ®
(4) e F gd Sk fR F TR AT §

48. Read the statements (A) and (B) carefully :
(A) : The Veda Samaj was established in Madras in 1864.
(B) : It was inspired by the Arya Samaj.
Choose the correct option :

(1) (A) is false but (B) is true (2) Both (A) and (B) are true
(3) Both (A) and (B) are false (4) (A) is true but (B) is false
el (A) T (B) Tl &4F | S

(A) : ‘IC TS ST TATIT 1864 H HETH H TE |
(B) : o< UAN, 3 91 9 YRa o

foretferfian o 9 @t foe 9 -
(1) (A) 7o © foh=q (B) & | (2) THT(A) T (B) T E |
(3) M (A) T (B) eIt ¥ | 4) (A) T2 ¥ foh=g (B) Tod |
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49.

50.

Read the statements (A) and (B) carefully :

(A) : In 1817, James Mill published ‘A History of British India” in three volumes.

(B) : In this he divided Indian history into three periods - Ancient, Medieval and Modern.
Choose the correct option of the following :

(1) (A) is false but (B) is true (2) Both (A) and (B) are true

(3) Both (A) and (B) are false (4) (A) is true but (B) is false

FHI, (A) 9T (B) Tl &M 9 UE :

(A) : w1 e 7 1817 # ‘€ fe&t 1w fafest sfean’ & 9l & gemifa fopam |

(B) : TUH IR URAT 3@ 1 9 Frell - i, e iR enyfae ¥ wier ¥

Foreferfia & O @ fasew 4 -
(1) (A) Tea g foheg (B) W (2) < (A) T (B) T ¥ |
(3) THI (A) T (B) T ¥ | 4) (A) U2 % fh=g (B) TTeq |

Read the assertion (A) and reason (R) carefully :

Assertion (A) :

Tribes have rich and unique cultural traditions including their own language and music etc.
Reason (R) :

Land, forests, grasslands and water are regarded as the wealth of the entire tribe and everybody
shares and uses these together.

Choose the correct option of the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explains (A)

(4) (A) is true but (R) is false

SR (A) T HITT (R) i =9 9 T8 :

UweA (A) :

SASTTAE! ot HiGh feh—TXTd e Seht AT qe i oft nfhe § gd 995 qen fafvre et €1
<hIUT (R) :

ST, ST, S8 % B a1 U g FAe Shi geatd 7 S § 1 TS ST e we e fiesjers] sd
2

Freferfion & & Wt fased 93 -

(1) (A) @ g =g (R) S&T |

(2) <HI(A) T (R) §&I € 991 (R), (A) T AT HIA T
(3)

(4)

3) T (A) T (R) & € fFg (R), (A) T & 71&0 htell |
4) (A) & ¥ foreg (R) o |
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51. Ladakh is also called Little Tibet due to :
(a) Geographical proximity (b)  Religious similarity
(c) Similar cuisines (d) Linguistic similarity

Choose the correct options :

(1) (a), (b), (c) and (d) (2)  (a), (b) and (c)
(3)  (b), (c) and (d) (4) (a), (b) and (d)
F FHRO AEG 1 BT Tasad off Fgd 2 |

(a) SiFifees = (b) wfHer FHH

(c) HHN HISH (d) TS FHA

e faheq 1 999 Hifeg |

1) (), (), () 3 (d) 2 (@), (b) IR ()
(3) (b), (o) 3R (d) 4)  (a), (b) R (d)

52.  Which one of the following is not true regarding Hindustan Socialist Republican Association (HSRA).
Choose the correct option :

1) Members of the HSRA assassinated Saunders, a police officer.

2) Bhagat Singh and his comrades founded this organisation.

3) It was founded in 1928 at Firozeshah Kotla in Delhi.

4) It was founded in 1928 at Amritsar in Punjab.

fegeam droifere fafsarere TAfaTeM (T9.08.2TRT) & aR § fr=fafed § @ SF-91 weF 9e T8 © 2
e fashed 4 ¢

(
(
(
(

(1) TATHIRT, & G A HieH AHE Jfoad HABET i e i o |
(2) v fog 3R 3 SHifdhit W 3 SHehT TATTAT i off |

(3) 1928 H fowedl < FRUSTSNG shicall H SHeh! TTOHT B8 |

(4) 1928 H USTE o STHA H THeh! TATAT G5 |

53. What makes an object or substance a resource ?

(1) Discovery of object (2) Purification
(3)  Utility or usability (4) Extraction
1 = forelt a%g STeren aered Sl WHIEE S © 2

(1) =% ® @S 2) s

(3) SUHAINTAT STere Jasan (4) fr=peo
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54.

55.

Read the Assertion (A) and Reason (R) carefully :

Assertion (A) :

It was during Shah Jahan's reign that the different elements of Mughal architecture were fused
together in a grand harmonious synthesis.

Reason (R) :

His reign witnessed a huge amount of construction activity especially in Agra and Delhi.
Choose the correct option of the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explain (A)

(4) (A) is true but (R) is false

PRI (A) T THROT (R) 1AM 9 T -

Afme (A) :

SMeSTal o IHFehTel o SR TITel aregehell & fafi= ael T o7 GETTd |yerm § o T |
T (R) :

Ik A § 3TeRa fefor s werd T, foriy w9 | s iR foeedt 9

frafafed § o W& foehes 94 -

(1) (A) o g fhg (R) W& |

(2) T (A) T (R) & § T (R), (A) T AT AT S|

(3) <HI(A) W (R) Tl € fohg (R), (A) Tt AT T&l ol T

4) (A) ¥ T fFg (R) To@ |

Read the assertion (A) and reason (R) carefully :

Assertion (A) :

The Mahalwari settlement for revenue collection was introduced by Holt Mackenzie.
Reason (R) :

The charge of collecting the revenue and paying it to the company was given to the village headman,
rather than the Zamindar.

Choose the correct option of the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explain (A)

(4) (A) is true but (R) is false

PR (A) T HITT (R) i =9H 9 T8 :

FUweA (A) :

ST TYAT SHTET  HETTa R SIaler&d ' hl YE&ATd diee Hehsit o hi off |

T (R) :

ToTEd et AT HEAT ok 3 Tga™ i FSTHQRT 7Te % WM 1 &f T 7 fof STiier i |
freaferfad & 9 W forsen = -

(1) (A) @ g =g (R) S&T |

(2) THI(A) T (R) T § a1 (R), (A) I SATA HIA € |
(3) <HI(A) W (R) T&I &, T (R), (A) T ==& =& el |
(4) (A) W@ & fohg (R) e |
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56.

57.

The prairies are known as ‘Granaries of the World’. Select the conditions that help in production
of surplus wheat in this region.

(a) People do not use technology here.

(b) People are very hardworking here.

(c)  Scientific methods of cultivation are used here.

(d) There is a lack of rainfall in this region.

Choose the correct option :

(1) (c) and (d) are correct (2) (a) and (b) are correct
(3) (b) and (c) are correct (4) (a) and (d) are correct

Torlt b1 ‘fava o1 oI’ oft hed €1 39 WY H STl MY % Saared | Here ufifefadt w1 g
HITT |

(a) T AN TNt 1 ST e R ¥

(b) =T i ogd W € ¥

() Ffa =t St fafeml 1 ==l v fohan s § )

(d) TH YUY H Iul H HH LT

e fashed @1 =9 ST |

(1) (o) IR (d) & & 2)  (a) 3R (b) W §
(3) (b) I () FA T 4) (a) 3R (d) T ¥

Lines drawn on a globe are known as latitudes and longitudes. What purpose do these lines
serve ?

1
@

) They are furrows on earth and indicate physical features of the earth

) To make designs on globe

(3) To locate places on earth

(4)

Teh TEle R @i TE @St Sl 19 SR QR & T H @ S ¥ 1 F Y@ R 89T Rl g0 Al € ?
(1) 3 gt W gA-T@d & qorn geeit it fifaek fersroausti v S et ©

2) e W fesE 9 H & fod

(3) gt W T I G & T

(4) TS HI G TH * T

To beautify the globe
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58.

59.

The atmosphere is a thin layer of air surrounding the Earth. What keeps the air to remain around
the earth ?

(1)  Gravitational force of moon (2) Gravitational force of the Earth

(3) Heat of the sun (4) Rocks and oceans on the earth

Jealt & =R SR Telt a1g ! Iael I i SRS had § | 3R =S a1 Sl geA o 9 SR 9 W& § 2
(1) =g I Ty o 2) gt T TReARY oA

(G) & =t (4) 9o W EeH IR HREIR

Reasons and Assertions :

Assertion (A) :

Stereotypes prevent people from doing certain things that they are good at.
Reason (R) :

Stereotypes stop us from recognizing unique qualities and skills in individuals and fit them into
one pattern.

Choose the correct option :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

(3) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(4) (A) is true but (R) is false

Toh IR eAfyerem -

Afme (A) :

wfeag gRomd Gl 1 U8 1w Y Awdt § R S o= ¥

qeh (R) :

Tigag YRUNT g5 =afad | o Tl IR Fivet i @ 9 ekl € q91 S Ueh & YR & @i § 978 It
g

| fasmeq =1 =99 ifew)

(1) (A)7Ted § T (R) ¥l T

2) (A) 3R (R) < W@ € AT (R), (A) FT T A 7
(3) (A) 3R (R) I T&I € T41(R), (A) i T&l =A@ T 2 |
4) (A) 5E ® TG (R) T T

P-IT ([ RRTRT A nm 45 P



60. India and Bangladesh are leading producers of jute. Choose the correct statements that support
growth of jute.
(a) It grows well in alluvial soil.
(b) It requires high temperature.
(c) It requires low temperature and low rainfall.
(d) It requires heavy rainfall and humidity.
Choose the correct options :
(1) (a), (c), (d) are correct (2) (a), (b), (c) are correct
(3) (a), (b), (d) are correct 4) (b), (c), (d) are correct
AR SR FFARY Te07 (S[2) & TN IURH ¢ | 98T i Jhg Fl 9 UG HLd aTel HeAl 1 9o
ifeTT |
(a) I Selg go1 H 3T & W fokfaa g T
(b) TH 3= AIHH HT STELFHAT B ¥ |
() =8 fre= aromE iR fre ot o6t strarvereRar gt €1
(d) T 9t IR SATEAT i STl B 7 |

et fashed 1 =997 it |

1) (@) (@) () T E 2 (), (), (©FIE
() (), (b), () T E @ ®),© @FE
61. Which is the best method to teach the concept of ‘Insolation” ?
(1) Survey (2) Case study (3) Brain-storming (4) Demonstration
‘ STAU’ hl STIRON UG 1 Yol TS Ikl i 918 2
(1) wa& (2) w9 @) foem-Hum 4) ¥eIH

62. Consider the following Assertion (A) and Reason (R) and choose the correct option :
Assertion (A) :
The disciplines that make up the social science are history, geography, political science and
economics.
Reason (R) :
There is interrelationship between the disciplines.
(1) (A) is false but (R) is true
(2) Both (A) and (R) are true and (R) explains (A)
(3) Both (A) and (R) are true but (R) does not explains (A)
(4) (A) is true but (R) is false
=1 IR (A) 991 S/IOT (R) W fa=ar =Y qen W&t fashed &1 =97 Fifsr :
A& (A) :
foren faer s wrfStes fomm &1 s € 9 € sfoem, i, Teiifaes fomm qen srefeme |
0T (R) :
=7 foren fagrii # sfq:dey €|
(1) (A) 7o § T (R) 9t 2|

2)  (A) 3R (R) A T € 991 (R), (A) FT HRAT BT 2 |
(3)  (A) 3R (R) S W&t € 1 (R), (A) I ARAT T Ll € |
4) (A) & T T (R) e © |
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63.

64.

Why do elections take place after a fixed time interval in democracy ?
(a) To ensure accountability of the government

(b) To ensure equal political participation by the parties

(c) To encourage political debate and public dialogue

(d) Itis a customary practice

Choose the correct options :

(1) (@), (b), (c) and (d) (2)  (a), (b) and (o)

(3) (b), (¢) and (d) 4) (a), (b) and (d)

R s § Wb e 99 a6 99 € g = 2 © 2

(a) TR T IAEIIE GHEd L & fag

(b) <l S HAW TsHIfden et gifea e & fag

(c) TSHIfde aR-faame S Halg ! Uidlfed T o faT
(d) IE TH FUNTT Uik ©

T I 1 =TT HIT

1) (@), (), (0) ¥R (d) 2 (a), (b) IR (o)
(3) (), () () 4)  (a), (b) R (d)

Which of the following is true about sources ?

(@) They are more concrete in nature

(b) They are all historical in nature

(c) They are objective

(d) They include accounts of eye witness and personal letters

Choose the correct option :

(1) (@), (9and(d) (2) (a)and (d) (3) (a) and (b) (4)
= & @ o w0 Sl % TR wed ¥ 2

(@) 9 ek 39 YT & e §

(b) & @t Ufereriees epfa & & §

(€) & g B €

d) O Y % S IR safamrd u oft wnfhe §

| faomeq o1 =99 sifeq)
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65.

66.

Assertion and Reason :
Assertion (A) :

Open-book exams shift the focus away from rote learning to a more involved engagement with the
textbook.

Reason (R) :

Open-book exams reduce the burden of students as they don’t need to prepare for the exam
beforehand.

Choose the correct option :
(1) Only (R) is true

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

(3) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(4) Only (A) is true

SR 3R FR

AFURIT (A) :

gelt T&ish e Wt Hig & g2 fohdrell o |1t Heie Tenfa s W hied Sl ¥

N (R) :

Geit J&Te TRie faenfeli o1 9R %9 ST § Hifh THH 3% Wi i TR 9eel ¥ & wA ued |
et fashed 1 =37 i |

(1) % (R) T 7

(2) TH(A) T (R) TE € 791 (R) T AT T € (A) Fl |

(3) <FI(A) T (R) W& § qAT (R), (A) I el AR Tl B |

4) FId (A) T T

1

2

4

Fill in the blank with correct option.

An alert and vigilant public is necessary for developing a strong

(1)  Autocracy (2) Monarchy

(3) Democracy (4) Oligarchy

e T 1 W& faesheq 9 W)

T ¢ 1 o & % fau s SR TR ST STevas ¢ |
(1) T (2) T

(3) i (4) T

P-XT {IARIRT DA nm 48 P



67.

68.

Consider the following assessment questions (A) and (B) related to the working of the state
government.

(A) : What is the purpose of a press conference ? How is it different from a Legislative Assembly
debate ?

(B) : What is the term used to refer to elected representatives who are not members of the ruling
party and who play the role of questioning govt. decisions ?

Choose the correct option :

(1) Both (A) and (B) test factual knowledge.

(2)  (A) tests conceptual knowledge whereas (B) tests factual knowledge.
(3) (A) tests factual knowledge whereas (B) tests conceptual knowledge.
(4) Both (A) and (B) test conceptual knowledge.

T WA 1 HEAYTel § Hatya fH=fafad e 9941 (A) T (B) W fo=m i)
(A) : FTETdl T 1 3T BT & 2 I Taumm § 9 et 97 9 fhy ae o1 § 2

(B) : 3 Faffaa afaffer & foe fore wes o1 w=rT a1 © S 91 S & 9as 7 aid a1 TR o hael
TR T 33T & ?

WE faeheq &1 =994 Sifsu |
(1) T (A) 901 (B) TeATHSE I i SiTd hd & |
2

(A) ThTUATHSE T i Si1= HdT © Sk (B) TEATHE A i |

2)
(3) (A) TAHE T Ht Wd HAN § SA(h (B) Hohou cHH A i |
(4) T (A) T (B) YehoUATcHs T S g L T |

While evaluating social science the following questions will help to understand its
objectives :

(a)  What skills are emphasised in the syllabus ?

(b) Is it derived from a standard text or combination of texts ?

(c) How detailed is the outline of syllabus ?

(d) What level of competence is demanded of learner on each social science skill ?
Choose the correct option :

(1) (@) (b)and (d) (2) (a) and (b) (3) (a) and (d) 4) (@), (b) and ()
AT {99 & Jediehd o QRH farad J9- $HehT 3evd §HeH § Heg il

(a) ISIHA H foRe wierell W oot femm wen ¥ 2

(b) I IE FRE T A TISagETE 9 T T A1 S T wiehl | ?

(c) HISIhH i TU@I fehat faeqa €2

(d) AferTTeRdl | AT oM % Yo Hive B e T e oTufed € 2

| fasmeq =1 =99 ifsw)

1) (), (b)) (2 (a) 3N (b) (3) (a) R (d) 4) (a), (b) R ()
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69.

70.

For teaching which of the following topics, a tree chart would be best suited ?

Distribution of demographic variables such as age, gender, race etc
To give summary of reign of a ruler

To illustrate the hierarchy of historical events in a particular era, such as wars, revolutions or
social movements

To teach modern history

frefafea 9 | fra fowg « feon & foae d-=r stfq suge wm?

3, ey, T e S SHHifesht =) & faaeo & o

M o YMEHA 1 R 4 & fau

T fou e o Ufdeifaes seisti, S8 ggi, swifaal s1een wmifes STidierl % YSMHshH i Ffes
femm & fau

Y sfie™ e & fag

Which of the following is not a characteristic of continuous comprehensive evaluation ?

It focuses on marks based evaluation of student’s work.
It makes evaluation an integral part of the teaching-learning process.
It focuses on all-round development of the child’s personality.

It includes an assessment of scholastic as well as co-scholastic aspects of the students growth.

Frefafed 9 -9 9 3R A9 qodishd i forRear & ¢ 7

1)
(2)
®)
4)

g fomneft & sieh smenfia wrf qodind W Hfgd T
I i i fereror-stfermm wfsran o eifm ofv semn 7
7 faanell % =afade % gafior fawm w i )

I faeneft & dferew fomra & T Te-Sifers Teqel 1 off st w2
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71.

72.

Two Fundamental Rights which the marginalized groups can invoke, to insist that they be treated
with dignity and as equals, are :

(a) Right to Equality
(b) Cultural and Educational Rights
(c) Right against Exploitation
(d) Right to Liberty

Choose the correct answers :

(1) (a) and (d) (2)  (a) and (b) (3) (b)and () (4) () and (d)

T Hiferer SRR ST A W IR T 99 T Gehd €, itk 3% @1 off TRAmE iR wHEar H
R fhar e, 9 ¥

(a) HHMT A1 STRIHR

(b) WiERfaER AR el SRR
(c) ¥ % faeg sAfuhr

(d) ESIGT 1 AfHRR

T ST F FIT FISC

Which of the following resources/strategies can make a social science classroom
inclusive ?
1) Encouraging only answers from textbooks.

2) Display of stories and photos of people from various communities and regions.

1)
()
(3) Teaching only dominant views of society.
4)

Avoiding examples from immediate environment.

frefafed 8 § -9 GHEFRATHITG T Gmise fome S e ol gerereh 59 Hemd! § 7
(1) I TSIYETHRI ¥ I A o {18 Wicamsd e |

(2) fafu= aem o) &5 % <l 5t Ferfar SR TRl T Jee |

(3) had FHIS & Y@ fa=ari = faam|

(4) STHUH % IR0 § oo
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73.

74.

Identify a skill-based objective of teaching social sciences from the following options.
(1) To acquire knowledge of continents
(2) To understand the cultures of people living in different societies
(3) To develop an ability to draw a map

(4) To develop a respect for difference and diversity

= # @, amfees faam gm & Hiee e Sgevd & 9gaH & |
(1) RIGHdl 1 FH 9T Tl

(2) fafa= gursii ® @A aTel AT oht HERR(qA! ohl FHSAT

(3) RN oM ki &rHal forepfad &

(4) M iR fafaear & foau smex fowfaa &

The statement, “The Indian Constitution provides safeguards to religious and linguistic minorities
as part of Fundamental Rights” infers that :

(a
(b

) it protects minorities against possible cultural domination by the majority.
) it protects minorities from any discrimination by the majority.

(c) it safeguards minority interests.

(d) it guarantees economic opportunities to minorities.

Choose the correct option :

(1) (@), (b), (c) and (d) (2)  (a) (b) and ()

(3)  (b), (c) and (d) (4) (@), (b) and (d)

FeH,  WRATT Higee enfier SR 9w STeuHEAshl i TR T WaHH Hifern SRl | il &, I8
STEH o § o

(a) I IgEEAR R G Tithideh T & TUE STCTHEIH! hi GRET Hl T |
(b) T IgHEIHI N fordll TE & AU | STCTHEAR] i FL&T FHI B |

(c) UE ATUHEIh! o fedi i YR&T T ¢ |

(d) T8 TCUHEIHI I A ST I MRS T Hl S

& fasmeq =1 =99 sifsq)

1) (@), (), () IR (d) 2 (@), (b) AR (c)
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75.

76.

The Indian judiciary upholds the rule of law, without any fear or external influence, and maintains
effective control over the actions of the government because of :

(1) Democratic values enshrined in Indian Constitution
(2) Supremacy of judiciary in India
(3) Independence of judiciary in India

(4) Judicial activism

IR =ATAaTereht o1 fohelt 91 S7ere SRl Salel o ST ol IMEF i 8T 4 ¢ q¢1 TEhR o FHEl |
Jet i ST T § et aee ©

(1) YR Gfaum § gfaseifua dendite o
(2) 9RA ¥ =AdIfeisht S Haieed

(3) WRA H AU i Taasd

(4) =fIeh Hishaeg

Identify the immediate measures which ensure women’s safety and enable them to take up jobs,
support family income and in becoming self-reliant.

(a) Provision of child-care centres

(b) Reservation of seats for women in parliament

(c) Provision of occupational safety

(d) Pick and drop facility for night shifts

Choose the correct option :

(1) (@) (), © and () (2) (a), (b) and (©)
() (@) (© and (d) (4) (), () and (d)

3 qcehifcieh ST ohl IEAM ShiTST ST Afgerell ohi Y& T 3 AR i, TRATMREE T H IFRH Hid
T Atk s § giafvea o ®

(a) eIl 1YY

(b) S ¥ Hfgansti & forw Hiel 1 sTRe

(c) HEHIFh Y& 1 TreH

(d) U el () & faw am-of S sl gfaen

WE fasheq &1 =594 Sifsu |

(1) (), (), () R (d) 2 (), (b) 3 (0)
(3) (@) () ¥R (d) 4)  (a), (b) 3R (d)
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77.

78.

Reasons and Assertions :

Assertion (A) :

Many cases of farmer’s suicides have been reported from villages in India.
Reason (R) :

Failure of Monsoons and inability to repay loans leads to distress among farmers.
Choose the correct option :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(4) (A) is true but (R) is false

Tk SR AfYhe

AR IT (A) :

YR < el ¥ fREmi & 2 SAcHsl o " e fen e €

e (R) :

THEA 1 3T9TE TR st (FH07) b1 UM it ST&THaT Fohdi § @I o1 HROT 9 T |
e faseq w1 9o i |

(1) (A) 7o § 9% (R) 98 T |

2) (A) 3R (R) < W& € A1 (R), (A) FT T A=A R

(3) (A) 3 (R) I T € WA (R), (A) T Tl =0 T 7

(4) (A) 5 ® T (R) T T

Assertion (A) :

Teaching of social studies is important at the elementary stage.

Reason (R) :

It sensitises the child to social issues and develops in him/her a respect for difference and diversity.
Choose the correct option from the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explain (A)

(4) (A) is true but (R) is false

AUHIT (A) :

RIYH TR R A famm 1 e st €

e (R) :

g SFed 1 HHTTSTeh HIHEH o i HeoaTeiet sl © qe SeH =T wd fafaer & fog @ faesfea s
€|

fr=fafea & 9 9&@r fases &1 =97 *ifva

(1) (A) 7T § T (R) &l

) (A) 3R (R) AT E T (R), (A) FT A FCA L |

(3)  (A) 3R (R) S T& § T (R), (A) Tt AT Tal BT |

(4) (A) ¥ T TG (R) T
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79.

80.

Which of the following is most appropriate for reducing curricular load of Social Science
syllabus ?

(a) Minimising the emphasis on memorizing facts and focus on comprehension.
(b)  Focusing on conceptual clarity.

(c) Skipping certain topics from the textbook based on exam directives and teacher’s lacks of
familiarity with the theme.

Choose the correct option :

(1) Only (a) and (c) (2) (), (b) and (c)

(3) Only (a) and (b) (4) Only (b) and (c)

MR a9 TISTshd % YR 1 8 & & fore fe=fafea § 9 o g S0 § 2

(a) Tl ok TR W ATH 91 <A1 AU I3 T hfad BT

(b) HHTUT o TR Tl Hfd KT

(c) e fel o 3MuR W iR forerer & fovgeg ¥ SHfRaT % FRU TITES & $9 faud @ sie
Gl

w@l foehed =1 =997 S|

FI (a) SR () () (@) (b) ¥R ()

Fad (a) 3R (b) 4) e (b) 3R (c)

(1)
(3)
Many workshops and factories located in industrial areas employ casual workers because :
(@) They can hire and fire them according to their convenience.

(b) They save on salaries and other job benefits which are paid to the permanent workers.
(c) Casual workers work long hours without demanding overtime wages.

(d) Casual workers are more hard working as compared to permanent ones.

Choose the correct option :

(1) (@), (b), (c) and (d) (2)  (a) (b) and (c)

(3)  (b), (¢) and (d) (4)  (a) (b)and (d)

SAreifiten &l o feord o shream qen theefEl o sreemeh afifen! =1 T S §, it

(a) o 3% T GRAUTIR @ 3R Feprer Tahd ¥ |

(b) o T HHE I fae el Iaq qen o ARl Hee fod el W 9= w3 )

(c) TRl St o FHEmaRk o= Y O fRT oo T9F qoh T B § |

(d) T Hite i qo § et st rfire ufkerd 2 €

WE faeheq &1 =534 Sifs |

(a), (b), () R (d) 2 (@), (b) IR ()

(b), () ¥R (d) 4)  (a), (b) 3R (d)

(1)
(3)
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81.

82.

It is possible that there might be students belonging to marginalised sections in your class. So,
when you are talking about the notion of marginalisation, which of the following things should
you keep in mind before introducing the topic ?

(a) Taking names of particular communities might cause discomfort to those belonging to those
communities.

(b)  Such issues need to be handled with sensitivity.

(c) Some students might feel shame in talking about their experiences of discrimination.
(d) Students should be forced to share their experiences.

Choose the most appropriate option :

(1) (@), (b)and (d) (2) (a)and (b) (3) (a)and () 4)  (a), (b) and (c)

T 99 g TR 3Tt sheql H SR WHe™ o © off 9, SHfaL 56 3179 STl TR hell § o1 o © ol
@ fowr g&qd shxd g staenl fefafaa § 9 fora =l st s v =nfee ?

(a) T TYSE! 1 TH o T S TSI T 37T AN 3198 Hegd HX qohd ¢ |
(b) TE TE o Yei ! HelgRiTerdl ¥ HHH! =fey |

€ TS B A WY L ASHTE I HET A | AT Togd FL T € |

(d) TorenfRRE ¥ SoRT 39 STIYE | w1 =0T |

e SuFer forehed 9 :

1) (@, B 7)) (2) (2) T (b) () @ () 4)  (a), (b) T ()

Which of the following statements is irrelevant representation of diagnostic evaluation ?
1) They are usually followed by remedial classes.

2)  They are used for comparing the learning achievements of all the students in class.

1)
()
(3) They are conducted during the instructional process.
4)

They help to identify learning difficulties.

frefafad § § -9 weH A< qedishd o S7Ta fo=m § 2
(1) o8 9T: ST=RY wensti & 9 fhan S €1
(2) THHI ITEN wHe F Gt fornfeR g die SuaferEi & gor w1 § foha S

(3) THH Herad e gfshan o SR foRan S §

(4) o8 HiEA | T orelt TRt o geaH § 73S Al § |
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83.

84.

At which stage of school education as per NCF 2005, are social science topics independently
introduced to students in textbooks ?

Choose the correct option of the following.
(1) Higher Secondary Stage (2) Primary Stage
(3) Upper Primary Stage (4) Secondary Stage

THLTH. 2005 % FATER, Thedl e o fohd T @ gritsies fagm & foeeii =0l @ds ®9 9 areagsdenl §
forenfel=i © 9fe = S § 2

frefafaa 5 9 9&r fased 1 999 ST
(1) =3 HieATHeh &R (2) wUfHE wX
(3) S=d yrfHeh &R (4) HEAHE &R

In Indian secularism, the state maintains a “Principled distance” with respect to religion. This
means that :

(a) State could interfere in religious matters on the basis of ideals laid out in the Constitution.
(b) State and religion can interfere in each other’s matters.

(c) State and religion cannot transgress each other’s boundaries.

(d) State can regulate religious affairs when need arises.

Choose the correct option :

(1) (9) and (d) (2) (a) and (b) (3) (b) and (d) (4) (a) and (d)

IR g Ruer 8, 79, o % ged # s ¢ dgifae gl 9 TEar ¥ 1 sHeh o1l ®

(a) Gfaem H fou Tu oTewl % SMUR W T HifHes Amel § e s Hehdl § |
(b) T IR o TH O F AT H LIS H Toh ¢ |

() oA 3R o wh g i HHIRH 1 SecieH el H TR & |

(d) TETIH TS W I Hifdes Tme i FEfa X g T

(aWa

T foshed =1 =997 HifT
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85.

86.

What is the advantage of field work as a method of social science ?

(1) Helps in testing knowledge of the students

(2) Provides students first hand knowledge

(3)  Develops skills of presenting, proposing and arguing
(4) Helps to memorize facts

HmIfSieh faRM i U5fd & T4 H 85 HE (Fies Th) & T A ?
(1) fomnferi & I wao § #eg wa |

(2) B I TAF I UIH FL S|

(3) T HT, TE HIAT AR Toh HE &F HIve faenpfad wdm T

(4) T I AR WA H HIG HAT T

The distinctiveness of Adivasi societies is attributed to :

(a) prevalence of caste system

(b)  practice of a range of tribal religions distinct from other prevalent religions
(c) distinct language use

(d) presence of little hierarchy

Choose the correct option :

1) (@), (), (c) and (d) (2) (), (b) and ()

(3)  (b), () and (d) 4) (), (b) and (d)

aTfeamst ot fafemear 1 99 S g

(a) fd SHeEAT & =e ohl

(b) T yafed owl § fue, 3T YR & ST B & 9o
(c) Taftre wron o v =

() FF-= H A Iufefd

WE 3T AT T HIC
1) (@), (b), (c) ¥R (d) 2)  (a), (b) IR ()
(3)  (b), (o) R (d) (4)  (a), (b) R (d)
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87.

88.

Which of the following is/are features of a project work ?
(@) They provide opportunity to the students to go beyond the textbook.

(b) A project work should ideally be done at home so that there is more time for teaching in
class.

(c) A group project helps develop collaborative skills in students.

Choose the most appropriate answer :

(1) (and(© (2 Only (a) () @and(®)  (4) (a)and (0
frfafea § @ wiF-w1/ afEem o it fafersed/ faforednd &/ 2

(a) e faenffai 1 aregwaes ¥ T S 1 ekl <ot T

(b) ARSI 1 =R WX g AT AMfeq difeh ke | fraror < forg sifues w9 fiet ok |
(c) wmfesw gfEsT s faenfai # wedimees wivra & fowe § 1eg & T

T2 Juger forshed T -

(1) (b) 3R (o) (2) 9 (a) (3) () 3R (b) (4) (a) 3R (0)

Which of the following classroom activities will help students critically look at the role of media in
society ?

(a) Asking students to have a classroom discussion on the topic ‘can the govt. prevent certain
news from being aired on T.V ? Why might it do so ?’

(b) Asking students to bring clippings from different newspapers on the same issue and make
comparisons regarding how they have reported it.

(c) Asking students to collect news items they have received in whatsapp groups or through
social media platforms and using them as pedagogic resources.

Choose the correct option :

(1) (a), (b)and () (2) (a) and (b) (3) (a) and (c) (4)  (b) and (c)

frefafea § & wF-4 e fafafy faenfri & wam § dife ot ftem &1 seremes gfe 9 e o

Heg M ?

(a) ‘R THR TRet TR 1 el W = | Uk ohell © 7 98 CE | halt 2’ fawa W SE g) wan
H it e |

(b) Todl T G R BT h1 AT STEARI o Al I 3h3T HIAT SR STk feR0T i g
1 el |

(c) BEI ¥ REHTY IR T FFral Hifed W 3TE ekl ol Tha HIAMT T IHbT N 01h T & €9
H SEH BT |

| fasmeq =1 =99 sifew)
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89.

90.

Which of the following statements are true about inquiry approach ?
a

b

(a) Itencourages problem solving skills.

(b) It helps find ways to gather and evaluate evidence.

(c) Teacher decides the pace of learning.

(d) Itis a quick way of learning.

Choose the most appropriate option :

1) @and®) (@ @and© () B, (@and(d @) (), () and (d)
frafafed o § HH-9 FuT IR SUFH & He § §1 8 ?

(a) I TEEAST ol A 1 GHAS hl YcdTied HI |

(b) IT Wed Th{Ad o eI HIT oh qeh] 1 Il T H HEE hidl & |

(c) Tofemsm siferm =6t ifq 61 99 et B

(d) IT U et H HEH H1 T T
ay 3fea fashey 1 =77 HifS |
(1) (a) R (b) 2) (@) 3R (0) 3) (b, (AR @) (a) () IR (d)

Following are some questions/comments that you have received from your students in a class.
Which question reflects the student’s ability to critically look at the issue of poverty and
inequality ?

(1) Why does government give free goods to the poor ?  Won't it make them
lazy ?

(2) Why is it that luxury cars and beggars can both be seen at traffic signals ?
(3)  Why can’t poor people work harder to improve their lives ?

(4) When will India become developed and get rid of poverty ?

frfafed ye/femforar e sToet us e o fornfefell & ura &t 81 398 9§ -1 woA faeneff & e
J STEAMAT % G2, TR ST gfee ol gfafefed e & 2

(1) TR TRIe 1 R THH F Sl @ 2 1 I8 376 STord] Tel o < ?

() TE g e faoamm e R et 1 @ e iR fama W im e ¥ 2
(3) RIS AN 7T Sfe fearfa guma & fo iR sifues feea o T R ?
(4) WNG ha foeRied B SR st § o 2 ?
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PART - IV
LANGUAGE -1 : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-IV (Q. No. 91-120), if they have opted

for ENGLISH as LANGUAGE-I only.

Read the given passage and answer the questions that follow. (91-99)

1.

91.

92.

93.

94.

We were walking across the garden when my daughter spotted a cluster of familiar red flowers.
She pulled me to one side and then, looking excitedly at me as though she had a secret to share, she
pulled me down to her height and whispered in my ears. I shot up straight almost as soon as she
had finished her sentence. With my mouth ajar, I was about to tell her that it was probably not a
good idea to do so when I was transported to the time when I was around her age.

It had been a rather long day from school and I was dead tired. I was walking along the pathway
that was lined with many ixora plants when my friend grabbed me by the arm. Before I could do
anything, he gleefully plucked a single flower from the cluster and showed it to me. Unimpressed,
I was not about to be swayed by a puny flower and was about to admonish him when he turned
the flower upside down to show me a tiny almost invisible thread-like thing that protruded out
from its stalk.

He pulled the faint yellowish thread and right at the end of it, a tiny drop of nectar appeared. At
least, that was what I think it was, as it was really quite sweet. That day we raided the ixora
plants. We really had a lot of fun. I could still taste the sweetness till today. My daughter’s urgent
tug brought me back to reality. I turned to my daughter and decided that she too needed to know
the joy of tasting sweet nectar from beautiful blooms.

‘to be transported in time’ means .
(1) to take future decisions (2) travel backwards

(3) toindulge in time travel (4) recollect memories of the past

Identify the parts of speech of the underlined words.

I was transported to the time when I was around her age.

(1) noun, adverb (2) noun, verb

(38) adjective, preposition (4) noun, preposition
‘I was about to admonish him ....".

The underlined word can be replaced by the word -
(1) cajole (2) appreciate (3) reprimand (4) refuse

From the given anecdote, one can assume that the 2 characters shared the relationship of :
(1) grandmother and grand-child  (2) best friends
(3) mother and daughter (4) school-mates
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95.

96.

97.

98.

99.

Read the following sentences :

) The writer is traumatised by the memories of her childhood.

The daughter’s secret brings back nostalgic memories of the school days.
The writer wants her child to be connected to the sweet pleasures of nature.
(b) and (c) are correct, (a) is incorrect

(a) and (c) are correct, (b) is incorrect

(b) and (c) are incorrect, (a) is correct

(a) and (b) are correct, (c) is incorrect

o~ o~~~
~

a
b
C
1
2
3
4

~— N N

In para 1, according to the mother it was not a good idea to :
(1) walk along the pathway alone

(2) taste sweet nectar from flowers

(3) raid the ixora plants

(4) walk in the garden the whole day long

Read the following sentences :

Assertion (A) :

The child was excited to share a secret with her mother.

Reason (R) :

The mother was in disbelief and went down memory lane.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2)  (A) is correct, but (R) is incorrect

3) Both (A) and (R) are correct

4) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

S~~~

Complete the word analogy :
cluster : bunch : : puny : ?

(1) long-stalked (2) delicate (3) colourful (4) prickly
‘To be dead tired” does not mean -

(1) to feel refreshed (2) to feel too tired to walk

(3) to be exhausted (4) to be completely exhausted

Read the given extract and answer the questions that follow. (100-105)
My tea is nearly ready and the sun has left the sky;

Its time to take the window to see Leerie going by;

For every night at tea time and before you take your seat,

With lantern and with ladder he comes posting up the street.

Now Tom would be a driver and Maria may go to the sea;
And my papa’s a banker and as rich as he can be;

But I, when I'm stronger and choose what I'm to do,

O Leerie, I'll go around at night and light the lamps with you

For we are very lucky, with a lamp before the door;
And Leerie stops to light it as he lights so many more;
And O ! Before you hurry by with ladder and with light,
O Leerie, see a little child and nod to him tonight !

100. Identify the rhyme scheme in lines 5 - 8.

(1) aaba (2) abba (3) aabb (4) abab
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101.

102.

103.

104.

105.

106.

107.

The phrase, ‘the sun has left the sky” indicates that -

(1) itis evening time (2) itis morning (3) itis forenoon  (4) it is afternoon

Why does the poet consider himself to be fortunate ?

(1) He is strong and doesn’t have to make a choice in life.
(2) He has a rich banker father.

(3) He doesn’t have to light other peoples” doors.

(4) He has light at night by his door.

Read the following sentences :

(a) The poet occasionally has a light outside his door.

(b) The poet wants to be a banker like his father when he grows up.
(c) The poet is fascinated by the lamp lighter’s profession.

(1) (a) and (b) are correct, (c) is incorrect

(2) (a) and (c) are correct, (b) is incorrect

(3) (b) and (c) are correct, (a) is incorrect

(4) (a) and (b) are incorrect, (c) is correct

The poet looks at the lamp-lighter’s profession with -

(1) confusion (2) wonder (3) jealousy (4) curiosity

With reference to the poem, complete the word analogy :
Leerie : lamplighter : : father : _?

(1) Dbanker (2) rich businessman
(3) driver (4) sailor

A teacher at the secondary stage gives a text/short story and asks them to read and discuss the
meaning and ideas of the text from the point of view of power and justice. What does the teacher
attempt to develop in the learners ?

(1) Higher order language skills (2) Critical literacy skills
(8) Critical pedagogy (4) Critical language development

What is “interlingual identification” ?
(1) Learner’s understanding that learning of different languages warrants different abilities.

(2) Learner’s judgment that something in the native language and something in the target
language are similar.

(3) Learner’s judgment that something in the native language and something in the target
language are dissimilar.

(4) Learner’s judgment that the knowledge of the native language interferes in the learning of
second language.
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108.

109.

110.

111.

112.

113.

A language teacher tells a story in English and asks learners to work in group to tell the story in the
languages known to them and then in the common language of the classroom. What is this
pedagogical strategy known as ?

(1) Language acquisition (2) Translanguaging

(3)  Multilingual policy (4) Multilanguage teaching

A teacher of Class VII conducts a pair work activity in which the pairs are given a story of ten
sentences. One in the pair reads out the first sentences and the other in the pair writes that
sentence. Then other in the pair read out second sentence and the first in the pair writes the
second sentence. Likewise the pairs complete the whole story. Later they compare their writing
with the original text given to them. What is this activity known as ?

(1) Mutual Dictation (2) Mutual Writing
(3) Mutual Listening (4) Sentence Dictation

A learner reads through the news item in the newspaper to know specific information. This
reading is known as

(1) Study skill (2) Critical reading (3) Skimming (4) Scanning

Procedural knowledge in the teaching-learning grammar is

(1) knowing the language and its culture.

(2) knowing how to do the grammatical item.
(3) knowledge about the grammatical item.
(4) knowing the rules of the grammatical item.

Shreya is a Class VI learner who moves from the Jalander in Punjab to Madurai in Tamil Nadu as
her father has been transferred. She knows Punjabi as her mother tongue and English language
she studies as her second language in school. She is able to speak and read Tamil learning from her
neighbourhood. Which one of the following statements is true based on the languages she now
knows ?

(1) Her English comes under language acquisition and Punjabi and Tamil come under language
learning.

(2) Her Punjabi and Tamil come under language acquisition and English comes under language
learning.

(3) Her Tamil comes under language acquisition and English and Punjabi come under language
learning.

(4) All the three languages, Punjabi, Tamil and English under language learning.

Malayalam spoken by a particular community in Kozhikodi is slightly different from the Malayalam
spoken by others in the same place. What is the Malayalam spoken by the particular community
known as ?

(1) They are two different languages (2) Two varieties of Malayalam
(3) Regional dialect of Malayalam (4) Social dialect of Malayalam
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114. Which one of the following is true of the three language formula ?
(1) Mother tongue/home language/English as the first language.

(2) Mother tongue/home language/regional language as the first language.
(3) English/Hindi/home language/local language as the first language.
(4) Mother tongue/home language/Hindi as the first language.

115. Following learning task was given to learners in different groups. Find out what is this vocabulary
learning activity known as.

Find words and phrases which relate to the following words.

Relationship

(1) Word Web (2) Thematic Vocabulary
(3) Word clusters (4) Cluster Vocabulary

116. A method of teaching in which a teacher and four students form a collaborative learning group
with different roles. Dialogues occur on the content of the text passage, which creates a zone of
proximal development in which reading comprehension improves. This method is referred to as :

(I) Model Reading (2) Grammar Translation Method
(3)  Reciprocal Teaching (4) Structural Approach

117. The language we use for day-to-day, face-to-face interaction is known as :
(1) Interpersonal language proficiency

(2) Cognitive Academic Language Proficiency (CALP)
(3) Basic Interpersonal Communication Skills (BICS)
(4) Communicative language skills

118. Remedial teaching is for :
(1) learners and teachers to enhance the scores in the examination in language paper.

(2) learners who need attention on certain aspects of language learning.
(38) teachers who need to modify their teaching for certain student to learn the language.
(4) learners and teachers to understand and modify/improve their teaching/learning strategies.

119. Which of the following is NOT true of Sign Language ?
(1) Sign language has a grammar.

(2) Sign language has many varieties.
(3) Sign language is a natural language.
(4) Sign language does not have a grammar.

120. Which of the following is NOT the purpose of extensive reading ?
(1) Reading for pleasure (2) Reading for appreciation
(3) Reading for extrapolation (4) Reading for learning grammar
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PART -V
LANGUAGE - 1l : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they

have opted for ENGLISH as LANGUAGE-II only.

Read the given passage and answer the questions that follow, (121-128)

1.

121.

122.

123.

The loss in earnings that farmers see due to extreme weather events or erratic seasonality is, by
now, accepted as the most widely felt economic impact of climate change. Farmers were the first
people to feel the impacts of climate change, which ultimately affects the country’s overall
agricultural output and adds to food inflation. High food prices, in turn, could result in people
slashing down consumption, which adversely impacts nutritional security.

A significant number of farming households produce food for their own consumption. These
households have given birth to an old saying : those who eat their own food are the healthiest. In
countries like India, where malnutrition is high and food insecurity is a nagging constant, such
households have used the home production system to remain out of this crisis. As studies point
out, these households are also protected from market fluctuations, thus ensuring that they can
afford healthy food. Obviously, they are not impacted by food inflation either.

But there are serious conversations taking place over how climate change-induced extreme weather
events would impact such households. We need to understand the link between nutrition intake
and household food production, and whether weather fluctuations would have any impact on
this. Researchers have analysed village level data from households with their own food production
and consumption, and co-related this with the local weather conditions to infer whether there
was a correlation. The paper establishes that people growing their own food consume more, thus
adding to nutrition levels and attaining overall food security. There was also reduction in child
stunting and underweight conditions as well as women achieving a normal body mass index.
These trends are more pronounced in remote villages.

Some households have remained out of the crisis of food insecurity by adopting -
(1) home production systems

(2) high food prices

(3) climate change conditions

(4) protection from extreme weather conditions

Identify the parts of speech of the underlined words.

A significant number of farming households produce food for their own consumption.

(1) noun, pronoun (2) adjective, pronoun
(3) adverb, pronoun (4) noun, adjective

As mentioned in para 1, what is the series of events that are triggered by climate change ?
(a) increase in prices of food items

(b)  detrimental effect on nutritional security
(c) extreme weather conditions

(d) reduced food consumption

1) (©— (b)— (- (@) 2 (@) -
(3) (©)— (@) — (& - b @ -
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124. Read the following sentences :

125.

126.

127.

128.

(a) A significant number of Indian households afford healthy food.

(b) Household food production has limited impact on food inflation.
(c)  Food insecurity is an occasional phenomenon in India.

(1) (b) and (c) are incorrect, (a) is correct

(2) (a), (b) and (c) are all incorrect

(3) (a) and (c) are incorrect, (b) is correct

(4) (a) and (b) are incorrect, (c) is correct

By which word can the underlined word be replaced in the given sentence ?

“These trends are more pronounced in remote areas.’

(1) ignored (2) disregarded (3) important (4) noticeable

Complete the given word analogy :
local : global : : erratic: ? .
(1) dependable (2) Dbelievable (3) consistent (4) disputable

What is correct about the health status of farmers who take to household food production ?
(1) women with higher body mass index

(2) children are malnourished

(3) Dbetter nutritional intake

(4) stunted growth of children

Which statement is incorrect with regard to household food production ?
(1) Increase in number of malnourished children

(2) Nutritional intake was better

(38) Food consumption in such households was higher

(4) Women enjoyed normal body mass index

Read the given extract and answer the questions that follow. (129-135)

1.

Untouchable, a charming French comedy about two friends who have almost nothing in common,
has been a huge international success. But before the story became a cinematic sensation, how
exactly did a rich French aristocrat and an Algerian immigrant with a criminal past become good
friends ? Philip and Abdul first met in Paris in 1993 when Philip was looking for a nurse. He was
from a very wealthy family. At one time he had been a successful business man, living a life of
great luxury. Then he had a terrible paragliding accident and lost the use of his arms and legs.
Life in a wheelchair was lonely and boring. Philip was struggling to imagine the future, and he
needed practical help with his day-to-day life.

Philip interviewed more than 80 people for the job of a nurse. But none of them seemed right.
Then he met Abdul, who had quit a life of crime in Algeria and moved to France to look for work.
He was lively, intelligent and quick-thinking, with a crazy sense of humour. Philip got on with
Abdul immediately, and he offered him the job. The two men didn’t have much in common.
Abdul loved pop music, but Philip preferred classical music. Philip loved modern art, but Abdul
hated it. Philip’s family was sure that he had made a bad choice. They believed that Philip needed
someone much more sensible. Meanwhile, Abdul wasn’t planning on staying in the job for long.
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129.

130.

131.

132.

133.

134.

135.

However, their working relationship quickly developed into a close friendship. Abdul gave Philip
the support he needed. More importantly, his energy and sense of humour brought fun and
excitement back into Philip’s life. Abdul helped Philip make trips to other countries. Both of them
now live in different countries, each with a wife and family. They keep in touch regularly. All that
really matters to their friendship, though, it is their shared love of laughter and adventure.

Complete the given word analogy :
Luxury : opulence : : sensation: ?
(1) suspicion (2) disaster (3) callousness (4) feeling

What bound the two very different men together for years ?
(1) their immigration status (2) their love for adventure sports
(3) warm friendship (4) love for music

Why did Philip need a nurse ?

(1) To resolve Abdul’s immigration status.

(2) To wipe out Abdul’s criminal past.

(3)  To help him with day-to-day practical things of life.
(4) To listen to classical music together.

Identify the parts of speech of the underlined words.

However, their working relationship quickly developed into a close friendship.

(1) noun, adverb (2) adjective, adverb
(3) verb, adverb (4) adjective, verb

Read the sentences given below :

(a) ‘Untouchable’ is a French comedy movie.

(b) The theme revolves around 2 friends, Philip and Abdul, who have similar tastes.
(c) The movie was a huge success in France and Algeria.

(1) (a) and (b) are correct, (c) is incorrect

(2) (a), (b) and (c) are all incorrect

(3) (a) and (c) are correct, (b) is incorrect

(4) (b) and (c) are incorrect, (a) is correct

Which aspect of Abdul’s personality is not true ?
(1) He preferred listening to classical music.
(2) He had a criminal past record.

(3) He was quick-witted and supportive.

(4) He shared a close rapport with his employer.
Abdul migrated to France to -

(1) search for employment

(2) work in the movie industry

(3) run away from the Algerian police

(4) listen to pop music
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136.

137.

138.

139.

140.

141.

142.

Which of the following processes involved for learning to write well in a language ?

(1) Braining storming - jotting down points - making an outline - writing the draft - editing -
finalising.

(2) Braining storming - making an outline - drafting - jotting down points - editing - finalizing.

(3) Braining storming - jotting down points - writing the draft - making an outline - editing -
finalising.

(4) Braining storming - jotting down points - writing the draft - editing - making an outline -
finalizing.

Which one of the following is true of the three language formula ?

(1)  All children begin their schooling in their mother tongue/home language and move on to
add at least two more languages by the time they complete their high school.

(2)  All children begin their schooling in the medium of English/home language and move on to
add at least two more languages by the time they complete their high school.

(3)  All children begin their schooling in their state language and move on to add at least two
more languages by the time they complete their high school.

(4) All children begin their schooling in the official language, Hindi and move on to add at least
two more languages by the time they complete their high school.

Declarative knowledge is

(1) knowing how to do the grammatical item.

(2) knowing to pronounce word in a language.

(3) knowledge about the grammatical item.

(4) knowing how to identify an error in a grammatical item.

Learners in a class of Social Science try to capture the main ideas of the classroom lecture and
make point of the lecture. What is this skill known as ?
(1) Cognitiveskill (2) Study skill (3) Listeningskill (4) Writing skill

Learning Outcomes attempt to enable learner to :

(1) attain language components in measurable terms.

(2) attain the grammatical knowledge in measurable terms.
(3) attain the competencies in measurable terms.

(4) attain minimum levels of learning of all skills.

A teacher in class VIII read out a text of five sentences in English twice and asked her learners to
listen to the text carefully. Then she asked them to work in group of four to recreate text nearer to
the one read out, not exactly the same. What is this activity known as ?

(1) Listening task (2) Writing task

(8) Paragraph Dictation (4) Collective Dictation

Elam is a student of class VII is able to speak four languages, Kannada, Marathi, Hindi and English.
He uses all the four languages freely when he speaks to his parents at home and in school he uses
Hindi, Kannada and English as these are the language known to his friends and teachers. What is
this practice known as ?

(1) Interlanguage (2) Translingual ability

(3) Code-meshing (4) Code-moving
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143.

144.

145.

146.

147.

148.

149.

150.

Which of the following methods advocates oral drilling and “mastery of the formal properties of
language’ as essential for language learning ?

(1) Total Physical Response

(2) Audiolingualism

(8) Communicative language teaching

(4) Grammar translation method

A teacher of class VI brought items like spoon, plate, utensils, boxes and pan to her classroom to
teach vocabulary from there writing a description of objects in kitchen. What are these objects
known as in language teaching ?

(1) Real life tasks (2) Teaching materials

(3) Realia (4) Cooking items

Which of the following is NOT true of National Education Policy 2020 on language education ?
(1) Study of English as language under three language formula.

(2) Study of a classical language under three language formula.

(8) Study of mother tongue/home language under three language formula.

(4) Study of Indian languages under three language formula.

Here is a question. Read and find out which typology of question it belongs to.

Having read the story of the little girl, you feel moved by her suffering and courage to face the
trouble. You would write a letter to the little girl appreciating her. Write the letter in about 120
words.

(1) Discursive question (2) Expressive questions

(3) Long answer question (4) Extrapolative question

Here is a situation where students were exposed to the opposite perspective of the subject under
consideration to allow them to further understand it. What does this process attempt to promote
among learners ?

(1) Literacy development (2) Critical analysis

(8)  Process based pedagogy (4) Critical Literacy

What is “Translanguaging’ ?

(1) Itis language-in-education policy on how many languages are to be taught in a school.

(2) Itrefers to moving from one language to another language while teaching-learning languages.
(3) It refers to understanding how languages change over the period of time.

(4) Itis a pedagogical process of using more than one language as resources in a classroom.

Which one of the following statements is true of language learning ?
(1) First language learning and second language are completely distinct.

(2) Knowledge of the native/first language interferes in the learning of second language.
(3) Knowledge of the native/first language has nothing to do in the learning of second language.
(4) Knowledge of the native/first language supports in the learning of second language.

This refers to the proficiency in academic language or language needed for various content areas.
(1) Cognitive Academic Language Proficiency (CALP)

(2) Inter-language proficiency

(3) Basic Interpersonal Communication Skills (BICS)

(4) Communicative language proficiency
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

fereafaRad ferden B e A U -

1. The mannerin which the different questions are to be answered has been | 1. forr g A fafdrer geal & 3R U o € 33 avfer wdten
explained in the Test Booklet which you should read carefully before actually gﬁﬂ?ﬁ[ # feparm orm g, forY 31y Uea & ¥ ¢ A Uee! e A UG
answering the questions. il

2. Outof the four alternatives for each question, only one circle forthe correct | 2. TG U9e & U feU o0 IR fadedl & & I 3R & fav OMR
answer is to be darkened completely with Blue / Black Ball Point Pen on IRIT P T%-2 R &dcT U T B a uﬁ TG eAei/dTel dict Uigee
Side-2 of the OMR Answer Sheet. The answer once marked is not liable I Y| U R AT b B & q1e 37 deeT el o Fhdl
to be changed. 3

3. Thecandidates should ensure that the Answer Sheetis notfolded. Donot | 3 gfiereff g%r?@aa & 5 39 307 U9 ) A1E F 0 Ud W W aﬁ‘%
make any stray marks on the Answer Sheet. Do not write your Roll No. 31 Ryore @ @S| whenelf arua 3W e T
anywhere else except in the specified space in the Answer Sheet. N Samp——

4, I-!andletthe Tes(t Bool:lfet :pd Answerlsgeetté/viﬂ:(lc??das u:‘derbno 4 e Eﬁﬂ?ﬁf 0 3R T B WEK“L‘E T B, s et ot
circumstances (except for discrepancy in Test Booklet Code or Number 55 : 3 5 . . .
and Answer Sheet Code or Number), another set will be provided. ?ﬂa;%a%ﬁﬁ;% Eﬁ‘rq?;agr‘im) Egaﬁ?ﬁs?q ﬂj i maﬁ air

S JRABT JUcfed] GeRIp]|

5. The candidates will write the correct Test Booklet Code and Number as et
given in the Test Booklet/Answer Sheet in the Attendance Sheet. 5, e oReEsR T & R U e O S

6. A machine \;vill read the coded ir;tformation in the OMR Answer Sﬁheet. ' yHenelt T& 9% I uRafy-uw #

Hence, noinformation should be leftincomplete and it should not be different B 5 -
from the information given in the Admit Card. 6. %MRW q;aﬁ B2 3y El;ﬁ Wﬁﬂ;ﬂ;fg # | ; E; Y ajg
Yl R o Blg 3R Jg Y-l el A [Hesl

7. Candidates are not allowed to carry any textual material, printed or written, el TR
bits of papers, pager, mobile phone, electronic device or any other material o .
except the Admit Card inside the examination hall/room. 7. wdtenelf gr wdem 'E»'IFT/EE;%\T ﬁ TAA-T & %’dWN wﬁmﬁ TR B

. . o . o UIe-A1#N, Fied A SAARed, BT B U], Uer, Adrgd

8. Mobile phones, wireless communication devices (even in switched off FE sﬁ’c@ﬁ%{cﬁ Jueoer o R5oft 31 B 3 T @ o o A
mode) and the other banned items should not be brought in the examination f’ 3 @ 3 ey
halls/rooms. Failing to comply with this instruction, it will be considered as g ) . . )
using unfair means in the examination and action will be taken againstthe | 8. dIaTSel Bid, a?ﬂ? AR gﬁﬂ?ﬂ (R 3T 3razer & o) 3k 3=
candidate including cancellation of examination. yfoafed axqu Tten eicmer & 8 oTg ool aifeu | 3 Jgel H

9. Each candidate must show on demand histher Admit Card to the Invigilator. qﬁa ° ;E’ﬁ ng siq T i{;ﬁ Waﬂa\q 19T G ST 2

&I 35@' GITEII, URIST Tg afeal

10. No candidate, without special permission of the Centre Superintendent or o 5 THenel. Rrfters @y s T
Invigilator, should leave his/her seat. 9. 933 w afredt, &ich I 3ATell YR !

. - . , 10. siefters o1 ferdteras ot faoiw srgqafa & foem &g wotemeft

11. The candidates should not leave the Examination Hall/Room without handing iﬁ é B | K g § wi
over their Answer Sheet to the Invigilator on duty and sign the Attendance el eTel o SIS )

Sheet twice. Cases where candidate has not signed the Attendance Sheet | 11. & 33 fordieres &1 3T 3a¥ U7 ieu faen va uRefe-ua W gdR
second time will be deemed not to have handed over the Answer Sheet and gxrery fopu faem utemelt wdten alc/mer @ w1 afe feedt
dealt with as an unfair means case. The candidates are also required to Terelt o a(:m“r IR JuRefa-usr W gxder 98 fu, @ I8 AN
put their left hand THUMB impression in the space provided in the SO R 39 3T U o ailery § 3R g 3@1%‘3 Jled BT
Attendance Sheet. HIHCT e ST | Tl 3rae Ty arer 3 3oy ot ferermer sufarfar-

12. Use of Electronic/Manual Calculator is prohibited. 5 & U 910 9 TR 319 v |

13. The candidates are governed by all Rules and Regulations of the Examining | 12. Sciagiierb/gacalicla URGed &l Juair afeid &1
Body with regard to their conduct in the Examination Hall/Room. Allcases | 43, udflerr &far/mer & 3maewr & forp gdtemelf uderor wwem & woft
of unfair means will be dealt with as per Rules and Regulations of the forralt vg Rferret grr R ¥ 3@%‘?[ et ¥ T A B
Examining Body. el T e & et v R & areEw

14. Np part of the Test Booklet and Answer Sheet shall be detached under any 14, T5adY oft oNNafy & wden Eﬁa-ﬂ 3 T T F Elﬁ'sf HTOT 37T
circumstances. el

15. On completion of the test, the candidate must hand over the Answer | 4 5. UdeT JeU A R, wdemeff ara/mer Eﬂgﬁ A qgf I 73 erdlere
Sheet to the Invigilator in the Hall / Room. The candidates are P s AT | gdemel 399 T 57 7 gﬁ?ﬂ:‘l o & o7 TB
allowed to take away this Test Booklet with them. ¥/
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